
  

S–7102   

B.A. DEGREE EXAMINATION, APRIL 2025 

Fifth Semester 

Economics 

MONEY AND BANKING 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you meant by money? 
 £n® GßÓõÀ GßÚ? 

2. Define mixed economy. 
 P»¨¦ ö£õ¸Íõuõμzøu Áøμ¯ÖUP. 

3. What is inflation? 
 £nÃUP® GßÓõÀ GßÚ? 

4. State the cash balance approach. 
 £n C¸¨¦ AqS•øÓø¯U SÔ¨¤k. 

5. List out the chief functions of commercial banks. 
 ÁoP Á[QPÎß •UQ¯ ö\¯À£õkPøÍ £mi¯¼k. 

6. What is commercial bank? 
 ÁoP Á[Q GßÓõÀ GßÚ? 

7. What do you meant by credit control? 
 Phß Pmk¨£õk GßÓõÀ GßÚ? 
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8. Specify the few functions of central bank. 

 ©zv¯ Á[Q°ß ]» ö\¯À£õkPøÍU SÔ¨¤k. 

9. Define the term of demonetization. 

 £n ©v¨¤Ç¨¦ GßÓ £uzøu Áøμ¯ÖUP. 

10. What is money market? 

 £n A[Põi GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) List out the functions of money. 

  £nzvß ö\¯À£õkPøÍ £mi¯¼k[PÒ. 

Or 

 (b) What is the role of money in mixed economy? 

  P»¨¦ ö£õ¸ÍõuõμzvÀ £nzvß £[S GßÚ? 

12. (a) Describe the Fisher’s quantity theory of money. 

  L¤å›ß £nzvß AÍÄ ÷Põm£õmøh ÂÁ›UP. 

Or 

 (b) Explain the types of inflation. 

  £nÃUPzvß ÁøPPøÍ ÂÍUSP. 

13. (a) Discus the role of commercial banks in economic 
development. 

  ö£õ¸Íõuõμ ÁÍºa]°À ÁoP Á[QPÎß £[øP¨ 
£ØÔ ÂÁõvUP. 

Or 

 (b) What do you meant by bank? What its functions? 

  Á[Q GßÓõÀ GßÚ? Auß ö\¯À£õkPÒ GßÚ? 
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14. (a) Show how the Central Bank of a country controls 
credit. Point out its limitations. 

  J¸ |õmiß ©zv¯ Á[Q GÆÁõÖ PhøÚU 
Pmk¨£kzxQÓx Gß£øuU PõmhÄ®? Auß 
Áμ®¦PøÍ _miUPõmkP. 

Or 

 (b) Examine the efficacy of qualitative credit controls. 

  uμ©õÚ Phß Pmk¨£õkPÎß ö\¯ÀvÓøÚ Bμõ´P. 

15. (a) Write a short note on ATM. 

  HiG® J¸ ]Ö SÔ¨¦ ÁøμP. 

Or 

 (b) Sketch the demonetization and its impact on Indian 
economy. 

  £n©v¨¦ }UP® ©ØÖ® C¢v¯¨ ö£õ¸ÍõuõμzvÀ 
Auß uõUPzøu ÁøμP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain different methods of not issue and give the 
characteristics of an ideal system of note issue. 

 öÁÎ°h¨£hõu £À÷ÁÖ •øÓPøÍ ÂÍUPÄ® ©ØÖ® 
£n öÁÎ±miß ]Ó¢u Aø©¨¤ß £s¦PøÍ AÎUP. 

17. How would you measure changes in the value of money? 
Is the method free from defects? 

 £nzvß ©v¨¤À HØ£k® ©õØÓ[PøÍ G¨£i 
AÍÂkÃºPÒ? •øÓ SøÓ£õkPÒ CÀ»õuuõ? 

18. What are the difficulties in the way of a Central Bank 
controlling credit? 

 ©zv¯ Á[Q PhøÚU Pmk¨£kzxÁvÀ EÒÍ ]μ©[PÒ 
GßÚ? 
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19. Point out the merits and demerits of various methods of 
credit control adopted by a central bank. 

 ©zv¯ Á[Q°ÚõÀ ¤ß£ØÓ¨£k® £À÷ÁÖ Phß 
Pmk¨£õmk •øÓPÎß  uSv ©ØÖ® wø©PøÍ 
_miUPõmk. 

20. Critically evaluate the defects of Indian money market. 

 C¢v¯ £n A[Põi°ß SøÓ£õkPøÍ Â©º\Ú Ÿv¯õP 
©v¨¥k ö\´P. 

———————— 



  

S–7103   

B.A. DEGREE EXAMINATION, APRIL 2025 

Fifth Semester 

Economics 

INTERNATIONAL ECONOMICS 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is international trade? 

 \ºÁ÷u\ ÁºzuP® GßÓõÀ GßÚ? 

2. What is Heckscher – Ohlin theorem? 

 öíñº&K¼ß ÷uØÓ® GßÓõÀ GßÚ? 

3. Define the term of balance of payments. 

 öPõk¨£ÚÍÄPÎß C¸¨¦ GßÓ £uzøu Áøμ¯ÖUP. 

4. What is the balance of trade? 

 ÁºzuP \©{ø» GßÚ? 

5. Define the term of foreign exchange. 

 A¢{¯a ö\»õÁo GßÓ £uzøu Áøμ¯ÖUP. 

6. Write a note of the Euro dollar market. 

 ³÷μõ hõ»º A[Põi°øÚ¨ £ØÔ ]Ö SÔ¨¦ ÁøμP. 
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7. Mention the few international financial institutions. 

 ]» \ºÁ÷u\ {v {ÖÁÚ[PøÍU SÔ¨¤k. 

8. Write a note of BRICK Development bank. 

 BRICK  ÷©®£õmk Á[Q°øÚ¨ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

9. What is the direction of trade? 

 ÁºzuPzvß vø\ GßÚ? 

10. What do you mean by foreign trade policy? 

 öÁÎ|õmk ÁºzuPU öPõÒøP GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) Examine the comparative cost theory of 
international trade. 

  \ºÁ÷u\ ÁºzuPzvß J¨¥mk ö\»ÄU ÷Põm£õmøh 
Bμõ´P. 

Or 

 (b) What are the main assumptions Of Heckscher – 
Ohlin’s theory? Explain. 

  öíñº&K¼ß ÷Põm£õmiß •UQ¯ AÝ©õÚ[PÒ 
GßÚ? ÂÁ›UP. 

12. (a) Describe the role of foreign aid in economic 
development. 

  ö£õ¸Íõuõμ ÁÍºa]°À öÁÎ|õmk EuÂ°ß 
£[øP ÂÁ›UP. 

Or 

 (b) How to solve disequilibrium in the balance of 
payment? Explain. 

  A¯À |õmk ö\¾zu {ø»°Ò EÒÍ 
\©{ø»°ßø©ø¯ GÆÁõÖ wº¨£x? ÂÁ›UP. 
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13. (a) Explain the demand and supply of foreign exchange. 
  A¢{¯a ö\»õÁo°ß ÷uøÁ ©ØÖ® AÎ¨ø£ 

ÂÍUSP. 

Or 

 (b) Analyse the purchasing power parity theory. 
  Áõ[S® \Uv \©{ø» ÷Põm£õmøh £S¨£õ´Ä 

ö\´P. 

14. (a) What is WTO and its impact on the Indian 
economy? 

  WTO ©ØÖ® C¢v¯¨ ö£õ¸ÍõuõμzvÀ Auß uõUP® 
GßÚ? 

Or 

 (b) What are the impacts of MNCs on Indian industry? 

  C¢v¯ öuõÈÀxøÓ°À MNCPÎß uõUP[PÒ 
GßÚ? 

15.  (a) Enunciate the composition and direction of foreign 
trade in India. 

  C¢v¯õÂÀ öÁÎ|õmk ÁºzuPzvß Aø©¨¦ ©ØÖ® 
vø\ø¯ ÂÁ›UP. 

Or 

 (b) India’s foreign trade policy 2023: New ideas and old 
challenges. 

  C¢v¯õÂß öÁÎ|õmk ÁºzuPU öPõÒøP 2023: 
¦v¯ ÷¯õ\øÚPÒ ©ØÖ® £øÇ¯ \ÁõÀPÒ. 

 Part C  (3 × 10 = 30) 

Answer any three questions.  

16. Critically evaluate the Heckscher - Ohlin theory of 
international trade. 

 \ºÁ÷u\ ÁºzuPzvß Heckscher - Ohlin ÷Põm£õmøh 
Â©º\Ú Ÿv¯õP ©v¨¥k ö\´P. 
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17. Briefly explain measures to remove disequilibrium in 
BOP. 

 BOP CÀ EÒÍ \©{ø»°ßø©ø¯ }USÁuØPõÚ 
|hÁiUøPPøÍ _¸UP©õP ÂÍUSP. 

18. Distinguish between stable and flexible exchange rates. 

 {ø»¯õÚ ©ØÖ® ö|QÌÁõÚ ©õØÖ ÂQu[PøÍ 
÷ÁÖ£kzvU Põmk. 

19. Discuss the role of Multinational Corporations in the 
Indian Economy. 

 C¢v¯¨ ö£õ¸ÍõuõμzvÀ £ßÚõmk {ÖÁÚzvß £[øP¨ 
£ØÔ ÂÁõvUP. 

20. Analyse the major trends in India’s foreign trade. 

 C¢v¯õÂß öÁÎ|õmk ÁºzuPzvß •UQ¯ ÷£õUSPøÍ 
£S¨£õ´Ä ö\´P. 

———————— 
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Economics 

AGRICULTURAL ECONOMICS 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Mention few importance of agricultural economics. 

 ÷ÁÍõsø©¨ ö£õ¸Íõuõμzvß ]» •UQ¯zxÁzøuU 
SÔ¨¤k. 

2. What do you mean by agricultural economics? 

 ÷ÁÍõsø©¨ ö£õ¸Íõuõμ® GßÓõÀ GßÚ? 

3. Define Agricultural labour. 

 ÷ÁÍõs öuõÈ»õÍºPøÍ Áøμ¯ÖUP. 

4. Mention few characteristics of agricultural labour 

 ÷ÁÍõs öuõÈ»õÍºPÎß ]» A®\[PøÍU SÔ¨¤k. 

5. What is meant by cropping pattern? 

 £°º •øÓ Gß£uß ö£õ¸Ò GßÚ? 

6. Write a short note on genital modified crops. 

 ©μ£q ©õØÓ¨£mh £°ºPÒ £ØÔ¯ ]Ö SÔ¨¦ ÁøμP. 
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7. What is a regional development bank? 

 ©sh» ÁÍºa] Á[Q GßÓõÀ GßÚ? 

8. Who is known as money lenders? 

 PhÜ¢÷uõºPÒ GßÖ AøÇUP¨£k£Áº ¯õº? 

9. What is the minimum support price? 

 SøÓ¢u £m\ BuμÄ Âø» GßÚ? 

10. What do you mean by buffer stock operations? 

 Cøhz ÷uUP (Âø»ø¯ {ø»¨£kzx®) ö\¯À£õkPÒ 
GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) How does the economic development of India depend 
upon the development of agriculture? 

  C¢v¯õÂß ö£õ¸Íõuõμ ÁÍºa] ÷ÁÍõsø©°ß 
ÁÍºa]ø¯ GÆÁõÖ \õº¢xÒÍx? 

Or 

 (b) Explain the characteristics of Indian agriculture. 

  C¢v¯ ÷ÁÍõsø©°ß ]Ó¨¤¯À¦PøÍ 
ÂÍUS[PÒ. 

12. (a) What are the problems faced by agricultural 
labourers? Briefly explain. 

  ÷ÁÍõs öuõÈ»õÍºPÒ \¢vUS® ¤μa\øÚPÒ 
GßÚ? _¸UP©õP ÂÍUPÄ®. 

Or 

 (b) Describe the types and characteristics of 
agricultural labour. 

  ÷ÁÍõs öuõÈ»õÍºPÎß ÁøPPÒ ©ØÖ® 
£s¦PøÍ ÂÁ›UP. 
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13. (a) What are the factors affecting cropping pattern? 
Explain it. 

  £°º •øÓPøÍ £õvUS® PõμoPÒ ¯õøÁ? Aøu 
ÂÍUSP. 

Or 

 (b) Briefly explain the organic farming practices. 

  C¯ØøP ÷ÁÍõsø© •øÓPøÍ _¸UP©õP ÂÍUSP. 

14. (a) Explain the role of regional rural banks in 
agricultural development. 

  ÷ÁÍõs ÁÍºa]°À ©sh» Qμõ©¨¦Ó Á[QPÎß 
£[øP ÂÍUSP. 

Or 

 (b) Analyse the role of cooperative in rural finance. 

  Qμõ©¨¦Ó {v°À TmkÓÄ £[øP £S¨£õ´Ä 
ö\´P. 

15.  (a) Describe the merits and demerits of public 
distribution system. 

  ö£õx Â{÷¯õP •øÓ°ß |ßø© wø©PøÍ 
ÂÁ›UP. 

Or 

 (b) Examine the food policy in India. 

  C¢v¯õÂß EnÄU öPõÒøPø¯ Bμõ´P. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the importance of agriculture in the economy in 
India. 

 C¢v¯õ¨ ö£õ¸ÍõuõμzvÀ ÷ÁÍõsø©°ß 
•UQ¯zxÁzøu¨ £ØÔ ÂÁõvUP. 
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17. Examine the agricultural labour its place in the economy. 

 ÷ÁÍõs öuõÈ»õÍºPÒ ©ØÖ® ö£õ¸ÍõuõμzvÀ 
AÁºPÎß {ø»°øÚ Bμõ´P. 

18. Critically evaluate the causes of low productivity in 
agriculture. 

 ÷ÁÍõsø©°À SøÓ¢u EØ£zvUPõÚ Põμn[PøÍ 
Â©º\Ú Ÿv¯õP ©v¨¥k ö\´P. 

19. Examine the role of money lenders in agricultural 
finance. 

 ÷ÁÍõs {v°À PhÜ¢÷uõºPÎß £[øP Bμõ´P. 

20. Discuss the significance of ‘Minimum Support Price’. 

 ‘SøÓ¢u£m\ BuμÄ Âø»’ °ß •UQ¯zxÁzøu¨ £ØÔ 
ÂÁõvUP. 

———————— 
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ECONOMIC THINKERS 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Mention any two views of Mercantilists trade. 

 ÁºzuPzvÀ ÁoPÁõvPÎß H÷uÝ® Cμsk 
P¸zxUPøÍU SÔ¨¤kP. 

2. Define dialectical materialism in Marxian economics. 

 ©õºU]¯ ö£õ¸ÍõuõμzvÀ C¯[Q¯À ö£õ¸Ò 
•uÀÁõuzøu Áøμ¯ÖUP. 

3. What is Physiocracy? 

 C¯ØøPÁõvPÒ GßÓõÀ GßÚ? 

4. State Adam Smith’s concept of value. 

 Bh® ìªzvß ©v¨¦ £ØÔ¯ P¸zøu TÖP. 

5. What is the Ricardian theory of distribution? 

 ›UPõºi¯Ûß £[Rk ÷Põm£õk GßÚ? 

6. What is Marshall’s concept of consumer surplus? 

 ~Pº÷Áõº E£› £ØÔ¯ ©õºå¼ß P¸zx GßÚ? 

Sub. Code 
22BAE5C4 



S–7105 

  

  2

7. Define the Classical Stationary State. 

 öuõsø© ö£õ¸Î¯¼À ÷uUP{ø»°øÚ Áøμ¯ÖUP. 

8. Mention two economic ideas of J. S. Mill. 

 ÷á.Gì ªÀ¼ß Cμsk ö£õ¸Íõuõμ ]¢uøÚPøÍU 
SÔ¨¤kP. 

9. Define Keynesian economics. 

 öP°ß]¯ß ö£õ¸Íõuõμzøu Áøμ¯ÖUP. 

10. What is Arrow’s Social Choice Theory? 

 A÷μõÂß \‰P ÷uºÄ ÷Põm£õk GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) Explain the key views of Mercantilis on money and 
prices. 

  £n® ©ØÖ® Âø»PÒ SÔzu ÁoPÁõvPÒ •UQ¯ 
P¸zxUPøÍ ÂÍUSP. 

Or 

 (b) Discuss the Marxian Theories of Crisis. 

  Ea\{ø» ©õºU]¯U ÷Põm£õkPøÍ¨ £ØÔ ÂÁõvUP. 

12. (a) What is Jevon’s Theory of Value? 

  öá÷ÁõÛß ©v¨¦ ÷Põm£õk GßÚ? 

Or 

 (b) Explain Bohm-Bawerk’s perspective on capital and 
interest. 

  ‰»uÚ® ©ØÖ® Ámi £ØÔ¯ ÷£õ®&£õÁºUQß 
•ß÷ÚõUøP ÂÍUSP. 
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13. (a) Explain Walras’s General Equilibrium Theory. 

  ÁõÀμõêß ö£õx \©{ø»U ÷Põm£õmøh ÂÍUSP. 

Or 

 (b) Provide a general overview of Marshall’s 

contribution to economics. 

  ö£õ¸ÍõuõμzvÀ ©õºå¼ß £[PÎ¨ø£¨ £ØÔ¯ 

ö£õxÁõÚ Ps÷nõmhzøu ÂÁ›UP. 

14. (a) Explain Mill’s views on production and distribution. 

  EØ£zv ©ØÖ® £QºÄ SÔzu ªÀ¼ß P¸zxUPøÍ 

ÂÍUSP. 

Or 

 (b) Analyze Mill’s perspective on economic progress and 

stagnation. 

  ö£õ¸Íõuõμ •ß÷ÚØÓ® ©ØÖ® ÷uUP{ø» £ØÔ¯ 

ªÀ¼ß •ß÷ÚõUøP £S¨£õ´Ä ö\´P. 

15. (a) Explain J. M. Keynes’s contributions to economic 

thought. 

  ö£õ¸Íõuõμ ]¢uøÚ°À ÷á.G®. öP´ßêß 

£[PÎ¨¦PøÍ ÂÍUSP. 

Or 

 (b) Discuss the role of Rational Expectation Models in 

modern economics. 

  |ÃÚ ö£õ¸ÍõuõμzvÀ £SzuÔÄ Gvº£õº¨¦ 

©õv›PÎß £[øP¨ £ØÔ ÂÁõvUP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Analyze the contribution of Mercantilism to economic 
thought with reference to trade and money. 

 ÁºzuP® ©ØÖ® £nzøuU öPõsk ö£õ¸Íõuõμ 
]¢uøÚUS ÁoPÁõuzvß £[PÎ¨ø£ £S¨£õ´Ä ö\´P. 

17. Explain the Physiocratic view on Natural Order and the 
role of agriculture in wealth generation. 

 C¯ØøP JÊ[S ©ØÖ® ö\ÀÁzøu E¸ÁõUSÁvÀ 
÷ÁÍõsø©°ß £[S £ØÔ¯ C¯ØøPÁõvPÎß 
£õºøÁø¯ ÂÍUSP. 

18. Analyze the contributions of Alfred Marshall to economic 
thought. 

 ö£õ¸Íõuõμ ]¢uøÚUS BÀL¤μm ©õºå¼ß 
£[PÎ¨¦PøÍ £S¨£õ´Ä ö\´P. 

19. Explain J. S. Mill’s Theory of Value and its implications 
for economic distribution. 

 J. S. ªÀ¼ß ©v¨¦ ÷Põm£õk ©ØÖ® ö£õ¸Íõuõμ 
£QºÂØPõÚ Auß uõUP[PøÍ ÂÍUSP. 

20. Analyze Keynes’s contributions to economic thought and 
how they differ from classical economics. 

 ö£õ¸Íõuõμ ]¢uøÚUS öP´ßêß £[PÎ¨¦PÒ ©ØÖ® 
AøÁ £õμ®£›¯ ö£õ¸Íõuõμzv¼¸¢x GÆÁõÖ 
÷ÁÖ£kQßÓÚ Gß£øu £S¨£õ´Ä ö\´P. 

  
———————— 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define the Human Development Index (HDI). 

 ©Ûu ÁÍºa] SÔ±møh Áøμ¯ÖUP. 

2. What is the significance of the National Family Health 
Survey (NFHS)? 

 ÷u]¯ Sk®£ _Põuõμ B´Âß •UQ¯zxÁ® GßÚ? 

3. What is Gross State Domestic Product (GSDP)? 

 ö©õzu ©õ{» EÒ|õmk EØ£zv GßÓõÀ GßÚ? 

4. Define revenue expenditure. 

 Á¸Áõ´ ö\»ÂÚ[PøÍ Áøμ¯ÖUP. 

5. Name two major crops grown in Tamil Nadu. 

 uªÌ|õmiÀ ÂøÍ²® Cμsk ö£›¯ £°ºPøÍU 
SÔ¨¤k. 

6. What is Uzhavar Sandhai? 

 EÇÁº A[Põi GßÓõÀ GßÚ? 

Sub. Code 
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7. Define large-scale industries. 
 ö£›¯ AÍÂ»õÚ öuõÈÀPøÍ Áøμ¯ÖUP. 

8. Mention any two small-scale industries in Tamil Nadu. 
 uªÌ|õmiß H÷uÝ® Cμsk ]ÖöuõÈÀPøÍU SÔ¨¤k. 

9. Define the Public Distribution System (PDS). 
 ö£õx Â{÷¯õP •øÓø¯ Áøμ¯ÖUP. 

10. Mention two major women development programs in 
Tamil Nadu. 

 uªÌ|õmiß Cμsk •UQ¯ ö£sPÒ ÷©®£õmkz 
vmh[PøÍU SÔ¨¤k. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Discuss the importance of monsoon in Tamil Nadu’s 
economy. 

  uªÌ|õmiß ö£õ¸ÍõuõμzvÀ £¸Á©øÇ°ß 
•UQ¯zxÁzøu¨ £ØÔ ÂÁõvUP. 

Or 

 (b) Analyze the population growth trends in  
Tamil Nadu. 

  uªÌ|õmiß ©UPÒöuõøP ÁÍºa]°ß ÷£õUSPøÍ 
£S¨£õ´Ä ö\´P. 

12. (a) Explain the trends in state income before and after 
economic reforms. 

  ö£õ¸Íõuõμ ^ºv¸zu[PÐUS •ßÝ® ¤ßÝ® 
©õ{» Á¸©õÚzvß ÷£õUSPøÍ ÂÍUSP.  

Or 

 (b) What are the major achievements of the State 
Planning Commission? 

  ©õ{» vmhUSÊÂß •UQ¯ \õuøÚPÒ GßÚ? 
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13. (a) Discuss the cropping pattern of Tamil Nadu. 

  uªÌ|õmiß £°º •øÓ £ØÔ ÂÁõvUP. 

Or 

 (b) How does agricultural finance help Tamil Nadu’s 
farmers? 

  ÷ÁÍõs {v uªÇP ÂÁ\õ°PÐUS GÆÁõÖ 
EuÄQÓx? 

14. (a) Write a short note on KVIC and its role in  
Tamil Nadu’s economy. 

  Põv ©ØÖ® Qμõ©z öuõÈÀ ø©¯® ©ØÖ® 
uªÌ|õmiß ö£õ¸ÍõuõμzvÀ Auß £[S £ØÔ J¸ 
]Ö SÔ¨ø£ GÊxP. 

Or 

 (b) Describe the importance of small-scale industries in 
Tamil Nadu. 

  uªÌ|õmiß ]ÖöuõÈÀPÎß •UQ¯zxÁzøu 
ÂÁ›UP. 

15. (a) Explain the major sources of energy generation in 
Tamil Nadu. 

  uªÌ|õmiß BØÓÀ EØ£zvUPõÚ •UQ¯ 
Buõμ[PøÍ ÂÍUSP. 

Or 

 (b) What are the major anti-poverty strategies 
implemented in Tamil Nadu? 

  uªÌ|õmiÀ ö\¯À£kzu¨£k® ÁÖø© JÈ¨¦ 
EzvPÒ GßÚ? 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the Human Development Index and Gender 
Development Index in the context of Tamil Nadu. 

 uªÌ|õmiß `Ç¼À ©Ûu ÁÍºa]U SÔ±k ©ØÖ® £õ¼Ú 
ÁÍºa]U SÔ±møh ÂÍUSP. 

17. Discuss the impact of economic reforms on Tamil Nadu’s 
structural growth. 

 uªÌ|õmiß Pmhø©¨¦ ÁÍºa]°À ö£õ¸Íõuõμ 
^ºv¸zu[PÎß uõUP® £ØÔ ÂÁõvUP. 

18. Examine the role of agricultural finance and livestock in 
Tamil Nadu’s rural economy. 

 uªÌ|õmiß Qμõ©¨ ö£õ¸ÍõuõμzvÀ ÷ÁÍõsø© {v 
©ØÖ® PõÀ|øhPÎß £[øP Bμõ´P. 

19. Explain the various labour welfare measures 
implemented in Tamil Nadu’s industrial sector. 

 uªÌ|õmiß öuõÈÀ xøÓ°À ö\¯À£kzu¨£k® £À÷ÁÖ 
öuõÈ»õÍº |» |hÁiUøPPøÍ ÂÍUSP. 

20. Explain the Public Distribution System (PDS) and its 
impact on poverty alleviation in Tamil Nadu. 

 ö£õx Â{÷¯õP •øÓ ©ØÖ® uªÌ|õmiÀ ÁÖø© 
JÈ¨¤À Auß uõUPzøu ÂÍUSP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you mean by labour? 

 öuõÈ»õÍº GßÓõÀ GßÚ? 

2. What are the difficulties of measurement of labour? 

 öuõÈ»õÍºPøÍ AÍÂkÁvÀ EÒÍ ]μ©[PÒ GßÚ? 

3. Define the term of industrial dispute. 

 öuõÈÀ uPμõÖ GßÓ £uzøu Áøμ¯ÖUP. 

4. What are the various forms of industrial dispute? 

 öuõÈÀ \ºaø\°ß £À÷ÁÖ E¸ÁõUP[PÒ GßÚ? 

5. Why is it called wage? 

 Hß T¼ GßÖ AøÇUP¨£kQÓx? 

6. List out the factors affecting real wages. 

 Esø©¯õÚ Fv¯zøu £õvUS® PõμoPøÍ £mi¯¼kP. 

7. What do you mean by occupation of hazard? 

 öuõÈÀ B£zx Gß£vÀ }Âº AÔÁx GßÚ? 
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8. Definition of social security. 

 \‰P £õxPõ¨¦ Áøμ¯ÖUP. 

9. Who called child labour? 

 SÇ¢øu öuõÈ»õÍºPÒ ¯õº? 

10. What are the main causes of child labour? 

 SÇ¢øu öuõÈ»õÍºPÐUPõÚ •UQ¯ Põμn[PÒ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions either (a) or (b). 

11. (a) Explain the causes of labour turnover. 

  öuõÈ»õÍº Á¸Áõ´UPõÚ Põμn[PøÍ ÂÍUSP. 

Or 

 (b) How can we reduce labour turnover? Examine. 

  öuõÈ»õÍº ¦μÒÂøÚ GÆÁõÖ SøÓUP»õ®? 
Bμõ´P. 

12. (a) What are the effects of an industrial dispute? 
Explain. 

  öuõÈÀ \ºaø\°ß ÂøÍÄPÒ GßÚ? ÂÁ›UP. 

Or 

 (b) How to prevent industrial disputes? Explain. 

  öuõÈÀ uPμõÖPøÍ GÆÁõÖ uk¨£x? ÂÁ›UP. 

13. (a) Distinguishes between real wage and nominal wage. 

  Esø©¯õÚ Fv¯® ©ØÖ® ö£¯μÍÄ Fv¯® 
BQ¯ÁØÔØPõÚ ÷ÁÖ£õkPøÍz u¸ÂUP. 

Or 

 (b) List out the factors affecting real wages. 

  Esø©¯õÚ Fv¯zøu £õvUS® PõμoPøÍ 
£mi¯¼kP. 
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14. (a) Point out the benefits provided under social security 
measures in India. 

  C¢v¯õÂÀ \‰P £õxPõ¨¦ |hÁiUøPPÎß RÌ 
ÁÇ[P¨£k® |ßø©PøÍ _miUPõmhÄ®. 

Or 

 (b) Narrate the labour force working conditions in 
India.  

  C¢v¯õÂÀ öuõÈ»õÍº ÷Áø» {ø»ø©PøÍ 
ÂÁ›UP. 

15.  (a) Explain the constitutional and legislative provision 
measures to regulate child labour. 

  SÇ¢øu öuõÈ»õÍºPøÍ JÊ[S£kzxÁuØPõÚ 
Aμ]¯»ø©¨¦ ©ØÖ® \mh HØ£õk |hÁiUøPPøÍ 
ÂÍUSP. 

Or 

 (b) Elucidate the problems of working women in India 

  C¢v¯õÂÀ £o¦›²® ö£sPÎß ¤μa\øÚPøÍ 
ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Critically examine the causes for migration of labour 
force. 

 öuõÈ»õÍºPÎß Ch®ö£¯ºÄUPõÚ Põμn[PøÍ Â©º\Ú 
Ÿv¯õP Bμõ´P. 

17. Briefly explain the methods for the settlement of 
industrial disputes. 

 öuõÈÀ uPμõÖPøÍz wº¨£uØPõÚ ÁÈ•øÓPøÍ 
_¸UP©õP ÂÍUSP. 
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18. Enunciate the causes of wage difference among the labour 
force. 

 öuõÈ»õÍºPÎøh÷¯ Fv¯ ÷ÁÖ£õmiØPõÚ 
Põμn[PøÍ ÂÍUSP. 

19. Sketch the labour social security measures undertake to 
government of India. 

 C¢v¯ Aμ\õ[PzvØS ÷©ØöPõÒÍ¨£k® öuõÈ»õÍº 
\‰P £õxPõ¨¦ |hÁiUøPPøÍ ÁøμP. 

20. Narrate the status of women workers in India. 

 C¢v¯õÂÀ ö£s öuõÈ»õÍºPÎß {ø»ø¯ ÂÁ›UP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you mean by backward linkage? 

 ¤ßuõ[Q¯ öuõhº¦ (¤øn¨¦) GßÓõÀ GßÚ? 

2. How can industry be classified? 

 öuõÈÀxøÓø¯ GÆÁõÖ ÁøP¨£kzu»õ®? 

3. Define the term of the private corporate sector. 

 uÛ¯õº ö£¸{ÖÁÚ xøÓ GßÓ £uzøu Áøμ¯ÖUP. 

4. What do you mean by ‘corporate sector’? 

 ö£¸{ÖÁÚ xøÓ GßÓõÀ GßÚ? 

5. What is industrial productivity? 

 öuõÈÀxøÓ EØ£zvzvÓß GßÓõÀ GßÚ? 

6. What is industrial sickness as per Companies Act 2013? 

 {ÖÁÚ[PÒ \mh® 2013 Cß £i öuõÈÀxøÓ |]Ä 
GßÓõÀ GßÚ? 
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7. What is globalization? 

 E»P©¯©õUPÀ GßÓõÀ GßÚ? 

8. How would you define privatization? 

 uÛ¯õº©¯©õUPø» GÆÁõÖ Áøμ¯Ö¨¥º? 

9. Write a short note on industrial policy 2013. 

 öuõÈÀ öPõÒøP 2013 £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 

10. Mention few basic industries. 

 ]» Ai¨£øhz öuõÈÀPøÍU SÔ¨¤k. 

 Part B  (5 × 5 = 25) 

Answer all questions either (a) or (b). 

11. (a) Distinguish between forward linkage and backward 
linkages. 

  •ß÷ÚõUQ¯ Cøn¨¦ ©ØÖ® ¤ßuõ[Q¯ 
Cøn¨¦PøÍ ÷ÁÖ£kzvU Põmk. 

Or 

 (b) Explain the need for Industrial Statistics. 

  öuõÈÀxøÓUS ¦ÒÎÂÁμ[PÎß AÁ]¯zøu 
ÂÍUSP. 

12. (a) Distinguish between public and private sector. 

  ö£õx ©ØÖ® uÛ¯õº xøÓø¯ ÷ÁÖ£kzvU Põmk. 

Or 

 (b) Explain the role of private corporate sector in India. 

  C¢v¯õÂÀ uÛ¯õº ö£¸{ÖÁÚ xøÓ°ß £[øP 
ÂÍUSP. 
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13. (a) What is industrial productivity? Explain factors 

affecting productivity in India. 

  öuõÈÀxøÓ EØ£zv GßÓõÀ GßÚ? C¢v¯õÂÀ 
EØ£zvø¯ £õvUS® PõμoPøÍ ÂÍUSP. 

Or 

 (b) Explain the capacity utilization in Indian 

industries. 

  C¢v¯z öuõÈÀPÎÀ vÓß £¯ß£õmøh ÂÍUSP. 

14. (a) Describe the advantages and disadvantages of 

disinvestment. 

  •u½møh Â»USÁuß |ßø©PÒ ©ØÖ® wø©PøÍ 
ÂÁ›UP. 

Or 

 (b) Explain how privatization can lead to gains for 

society. 

  uÛ¯õº©¯©õUPÀ GÆÁõÖ \‰PzvØS Buõμ[PøÍ 
HØ£kzx® Gß£øu ÂÍUSP. 

15.  (a) Mention some of the important features of the 

industrial policy in India. 

  C¢v¯õÂÀ öuõÈÀ öPõÒøP°ß ]» •UQ¯ 

A®\[PøÍU SÔ¨¤k. 

Or 

 (b) Why were Economic reforms introduced in India? 

  C¢v¯õÂÀ ö£õ¸Íõuõμ ^ºv¸zu[PÒ Hß, G¨÷£õx 
AÔ•P¨£kzu¨£mhÚ? 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Who maintains the national industrial classification? 
Briefly explain it. 

 ÷u]¯ öuõÈÀxøÓ ÁøP¨£õmøh ¯õº £μõ©›UQÓõºPÒ? 
_¸UP©õP ÂÍUSP. 

17. Critically discuss the role of Multinational Corporation in 
India. 

 C¢v¯õÂÀ £ßÚõmk {ÖÁÚ[PÎß £[øP Â©º\Ú 
Ÿv¯õP ÂÁõvUP. 

18. Elucidate Industrial Sickness: Causes, Consequences, 
and Prevention Strategies. 

 öuõÈÀxøÓ |]ÄPøÍ öuÎÄ£kzx[PÒ: Põμn[PÒ, 
ÂøÍÄPÒ ©ØÖ® uk¨¦ EzvPÒ GßÚ? 

19. What are the challenges of disinvestment in India? 
Briefly explain it. 

 C¢v¯õÂÀ •u½møh Â»USÁvÀ EÒÍ \ÁõÀPÒ 
GßÚ? _¸UP©õP ÂÍUSP. 

20. Critically evaluate industrial policy. 

 öuõÈÀxøÓ öPõÒøPø¯ Â©º\Ú Ÿv¯õP ©v¨¥k ö\´P. 

————————  
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you mean by development? 

 ÁÍºa] GßÓõÀ GßÚ? 

2. What is underdevelopment? 

 ÁÍºa]°ßø© GßÓõÀ GßÚ? 

3. Define economic growth. 

 ö£õ¸Íõuõμ ÁÍºa]ø¯ Áøμ¯ÖUP. 

4. What are the causes for rapid growth of population? 

 ©UPÒöuõøP°ß ÂøμÁõÚ ÁÍºa]UPõÚ Põμn[PÒ 
GßÚ? 

5. Define the term of Human Capital Formation. 

 ©Ûu ‰»uÚ E¸ÁõUP® GßÓ £uzøu Áøμ¯ÖUP. 

6. Write a short note on Physical capital. 

 ‰»uÚ® £ØÔ J¸ ]Ö SÔ¨ø£ GÊxP. 
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7. What is industrialization? 

 öuõÈÀ©¯©õUPÀ GßÓõÀ GßÚ? 

8. Mention few industrial problems in India. 

 C¢v¯õÂÀ EÒÍ ]» öuõÈÀxøÓ ¤μa\øÚPøÍ 
SÔ¨¤hÄ®. 

9. What is planning? 

 vmhªhÀ GßÓõÀ GßÚ? 

10. What is plan holiday in India? 

 C¢v¯õÂß vmh Âk•øÓU Põ»® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions either (a) or (b). 

11. (a) What are the characteristics of UDCs? Explain. 

  UDC PÎß £s¦PÒ GßÚ? ÂÁ›UP. 

Or 

 (b) Describe the transition of Indian economy from plan 
period to reform period. 

  C¢v¯¨ ö£õ¸Íõuõμ® vmhU Põ»zv¼¸¢x 
^ºv¸zuU Põ»zvØS ©õÖÁøu ÂÁ›UP. 

12. (a) What is the relationship between economics and 
population growth? Explain. 

  ö£õ¸ÍõuõμzvØS® ©UPÒöuõøP ÁÍºa]US® EÒÍ 
öuõhº¦ GßÚ? ÂÁ›UP. 

Or 

 (b) How does population affect human development? 

  ©UPÒöuõøP ©Ûu ÁÍºa]ø¯ GÆÁõÖ £õvUQÓx? 
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13. (a) Distinguishes between human capital and physical 
capital. 

  ©Ûu ‰»uÚ® ©ØÖ® ö£ÍwP ‰»uÚzøu 
÷ÁÖ£kzxP. 

Or 

 (b) What are the main problems of human capital 
formation? 

  ©Ûu ‰»uÚ E¸ÁõUPzvß •UQ¯ ¤μa\øÚPÒ 
¯õøÁ? 

14. (a) Write a short note on industrial policy 1991. 

  öuõÈÀ öPõÒøP 1991 £ØÔ J¸ ]Ö SÔ¨ø£ 
GÊxP. 

Or 

 (b) Sketch the industrial policy in India. 

  C¢v¯õÂÀ öuõÈÀ öPõÒøPø¯ Áøμ¯Ä®. 

15.  (a) Describe the recent five year plans in India. 

  C¢v¯õÂÀ \«£zv¯ I¢uõsk vmh[PøÍ 
ÂÁ›UPÄ®. 

Or 

 (b) What are the prerequisites for effective planning? 

  £¯ÝÒÍ vmhªku¾UPõÚ •ß{£¢uøÚPÒ GßÚ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Elucidate the first generation and second generation 
reforms in India. 

 C¢v¯õÂÀ •uÀ uø»•øÓ ©ØÖ® Cμshõ® uø»•øÓ 
^ºv¸zu[PøÍ ÂÍUSP. 
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17. Critically evaluate the population policy in India and 
Tamil Nadu. 

 C¢v¯õ ©ØÖ® uªÌ|õmiß ©UPÒ öuõøPU öPõÒøPø¯ 
Â©º\Ú Ÿv¯õP ©v¨¤k[PÒ. 

18. Reckon the unemployment in India. 

 C¢v¯õÂÀ ÷Áø»Áõ´¨¤ßø©ø¯U PnUQk[PÒ. 

19. Elucidate the recent trends and role of SSI in Indian 
economy 

 C¢v¯¨ ö£õ¸ÍõuõμzvÀ SSI Cß \«£zv¯ ÷£õUSPÒ 
©ØÖ® £[øP ÂÍUSP. 

20. Reckon the achievement and failures of five year plans in 
India. 

 C¢v¯õÂÀ I¢uõskz vmh[PÎß \õuøÚPÒ ©ØÖ® 
÷uõÀÂPøÍU PnUQkP.  

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is the role of Human Resource Development? 

 ©Ûu ÁÍ ÷©®£õmiß £[S GßÚ? 

2. Who introduced Human Resource Development concept? 

 ©Ûu ÁÍ ÷©®£õmk P¸zøu AÔ•P¨£kzv¯Áº ¯õº? 

3. Define motivation. 

 FUSÂzuÀ Áøμ¯Ö. 

4. List down any two ways to motivate employees. 

 FÈ¯ºPøÍ FUSÂ¨£uØPõÚ H÷uÝ® Cμsk 
ÁÈPøÍ¨ £mi¯¼kP. 

5. What is meant by manpower planning? 

 ©ÛuÁÍz vmhªhÀ GßÓõÀ GßÚ? 

6. What is Job analysis? 

 ÷Áø» £S¨£õ´Ä GßÓõÀ GßÚ? 
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7. What is promotion? 

 £uÂ E¯ºÄ GßÓõÀ GßÚ? 

8. What is the need of training in HRD? 

 ©ÛuÁÍ ÷©®£õmk £°Ø] ÷uøÁ GßÚ? 

9. Name the types of empowerment of women. 

 ö£sPÐUS AvPõμ©Îzu¼ß ÁøPPøÍU SÔ¨¤kP. 

10. What is meant by women entrepreneurship? 

 ö£s öuõÈÀ•øÚÄ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions either (a) or (b). 

11. (a) Bring out the need for Human Resource 
Development. 

  ©Ûu ÁÍ ÷©®£õmiß AÁ]¯zøu ÂÍUS[PÒ. 

Or 

 (b) Discuss the importance of Human Resource 
Development. 

  ©Ûu ÁÍ ÷©®£õmiß •UQ¯zxÁzøu 
ÂÁõvUPÄ®. 

12. (a) What is the role of education in HRD? 

  ©ÛuÁÍ ÷©®£õmiÀ PÀÂ°ß £[S GßÚ? 

Or 

 (b) Bring out the importance of motivation in Human 
Resource. 

  ©Ûu ÁÍzvÀ FUSÂzu¼ß •UQ¯zxÁzøu 
ÂÍUSP. 
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13. (a) State the importance of manpower planning. 

  ©ÛuÁÍ vmhªku¼ß •UQ¯zxÁzøu ÂÍUPÄ®.  

Or 

 (b) Explain the methods of performance appraisal. 

  ö\¯ÀvÓß ©v¨¥miß •øÓPøÍ ÂÍUPÄ®. 

14. (a) What are the objectives of training and 
development? 

  £°Ø] ©ØÖ® ÷©®£õmiß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Distinguish between promotion and transfer. 

  £uÂ E¯ºÄ ©ØÖ® Ch©õØÓzøu ÷ÁÖ£kzxP. 

15.  (a) What are the benefits of women empowerment? 

  ö£sPÒ AvPõμ©Îzu¼ß |ßø©PÒ GßÚ? 

Or 

 (b) Explain the role of women entrepreneur in economic 
development. 

  ö£õ¸Íõuõμ ÁÍºa]°À ö£s öuõÈÀ•øÚ÷Áõ›ß 
£[QøÚ ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss in detail the problems in Human Resource 
Development. 

 ©ÛuÁÍ ÷©®£õmiÀ EÒÍ ¤μa]øÚPøÍ Â›ÁõP 
ÂÁõvUPÄ®. 

17. Explain the theories of motivation in detail. 

 FUSÂzuÀ ÷Põm£õkPøÍ Â›ÁõP ÂÍUSP. 
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18. Explain in detail the obstacles in manpower planning. 

 ©ÛuÁÍ vmhªku¼À EÒÍ uøhPøÍ Â›ÁõP 
ÂÍUSP. 

19. Describe the methods of training. 

 £°Ø] •øÓPøÍ ÂÁ›UPÄ®. 

20. Explain the problems faced by women entrepreneurs. 

 ö£s öuõÈÀ•øÚ÷Áõº GvºöPõÒÐ® ¤μa]øÚPøÍ 
ÂÍUS[PÒ. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Mention the scope of public finance. 

 ö£õx {v°ß ÷|õUPzøuU SÔ¨¤k. 

2. What is private finance? 

 uÛ¯õº {v GßÓõÀ GßÚ? 

3. What are the three major ways of public expenditure? 

 ö£õxa ö\»ÄUPõÚ ‰ßÖ •UQ¯ ÁÈPÒ ¯õøÁ? 

4. What are the classifications of public expenditure? 

 ö£õxa ö\»ÂÚ[PÎß ÁøP¨£õk GßÚ? 

5. What is tax revenue? 

 Á› Á¸Áõ´ GßÓõÀ GßÚ? 

6. Write a note of VAT. 

 VAT Cß SÔ¨ø£ GÊxP. 
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7. Mention few importance of budget. 

 £möámiß •UQ¯zxÁ® £ØÔ ]»ÁØøÓU SÔ¨¤k. 

8. Define surplus budget. 

 E£› £möámøh Áøμ¯ÖUP. 

9. What is fiscal policy? 

 {vU öPõÒøP GßÓõÀ GßÚ? 

10. Write a note of finance commission in India. 

 C¢v¯õÂÀ {v Bøn¯® £ØÔ¯ SÔ¨¦ ÁøμP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Narrate the role of modern government principle of 
maximum social advantage. 

  AvP£m\ \‰P |ßø©UPõÚ |ÃÚ Aμ\õ[PU 
öPõÒøP°ß £[øP ÂÁ›UP. 

Or 

 (b) Distinguish between public and private. 

  ö£õx ©ØÖ® uÛ¯õº {vø¯ ÷ÁÖ£kzvU PõmkP. 

12. (a) Examine the public expenditure in India since 1951. 

  1951 •uÀ C¢v¯õÂß ö£õxa ö\»ÂÚ[PøÍ 
B´Ä ö\´P. 

Or 

 (b) Describe the difference between public expenditure 
and private expenditure. 

  ö£õxa ö\»ÄUS® uÛ¯õº ö\»ÄUS® EÒÍ 
÷ÁÖ£õmøh ÂÁ›UP. 
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13. (a) Distinguish between direct tax and indirect tax. 

  ÷|μi Á› ©ØÖ® ©øÓ•P Á›ø¯ ÷ÁÖ£kzvU 
Põmk. 

Or 

 (b) Briefly explain the income tax and VAT. 

  VAT ©ØÖ® Á¸©õÚ Á› £ØÔ ÂÍUSP. 

14. (a) Explain different types budget. 

  £À÷ÁÖ ÁøP¯õÚ £möámøh ÂÍUSP. 

Or 

 (b) Examine the causes of public dept. 

  ö£õxU PhÝUPõÚ Põμn[PøÍ Bμõ´P. 

15.  (a) Describe the problems of local finance. 

  EÒÑº {v°ß ]UPÀPÒ ÂÁ›UP. 

Or 

 (b) Examine the centre and state financial relationship 
in India. 

  C¢v¯õÂÀ ©zv¯ ©ØÖ® ©õ{» {v EÓøÁ B´Ä 
ö\´. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the nature and scope of public finance. 

 ö£õx {v°ß ußø© ©ØÖ® ÷|õUPzøu ÂÍUSP. 

17. Analyse the causes for growth of public expenditure. 

 ö£õxa ö\»ÂÚ[PÎß ÁÍºa]UPõÚ Põμn[PøÍ 
£S¨£õ´Ä ö\´P. 
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18. Critically evaluate the performance of deficit finance in 
India. 

 C¢v¯õÂÀ £ØÓõSøÓ {v°ß ö\¯ÀvÓøÚ Â©º\Ú 
Ÿv¯õP ©v¨¥k ö\´P. 

19. Examine the role of deficits budget of the economy. 

 ö£õ¸Íõuõμzvß £ØÓõUSøÓ £möámiß £[øP Bμõ´P. 

20. Critically evaluate the problems and perspectives of fiscal 
policy of India. 

 C¢v¯õÂß {vU öPõÒøP°ß ]UPÀPÒ ©ØÖ® 
•ß÷ÚõUSPøÍ Â©º\Ú Ÿv¯õP ©v¨¥k ö\´P. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Mention the characteristics of developing economies. 

 ÁÍ¸® ö£õ¸Íõuõμ[PÎß ]Ó¨¤¯À¦PøÍU SÔ¨¤kP.  

2. Define Human Development Index. 

 ©Ûu ÁÍºa]U SÔ±møh Áøμ¯ÖUP.  

3. What is Harrod — Domar model? 

 í÷μõm&÷hõ©º ©õhÀ GßÓõÀ GßÚ? 

4. What is balanced growth? 

 \©{ø» ÁÍºa] GßÓõÀ GßÚ? 

5. Define poverty. 

 ÁÖø©ø¯ Áøμ¯ÖUP.  

6. What is inequality in society? 

 \‰PzvÀ \©zxÁªßø© GßÓõÀ GßÚ? 
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7. What do you mean by rural development? 

 Qμõ©¨¦Ó ÁÍºa] GßÓõÀ GßÚ? 

8. What is rural urban migration? 

 Qμõ©¨¦Ózv¼¸¢x |Pº¨¦Ó Ch®ö£¯ºÄ GßÓõÀ GßÚ? 

9. Mention a few roles of the State in development. 

 ÁÍºa]°À Aμ]ß £[S ]»ÁØøÓU SÔ¨¤hÄ®.  

10. Define the term of liberalization. 

 uõμõÍ©¯©õUPÀ GßÓ £uzøu Áøμ¯ÖUP.  

 Part B  (5 × 5 = 25) 

Answer all questions either (a) or (b). 

11. (a) Briefly explain the human development index.  

  ©Ûu ÁÍºa]U SÔ±møh _¸UP©õP ÂÍUSP. 

Or 

 (b) Explain the factors which are hindrance to 
development in India. 

  C¢v¯õÂß ÁÍºa]US uøh¯õP C¸US® 
PõμoPøÍ ÂÍUSP.  

12. (a) Explain the Solow’s model of technical progress. 

  ÷\õ÷»õÂß öuõÈÀ~m£ •ß÷ÚØÓzvß ©õv›ø¯ 
ÂÍUSP.  

Or 

 (b) Enunciate the Rostow’ s stages of economic growth. 

  ö£õ¸Íõuõμ ÁÍºa]°À ÷μõì÷hõÂß {ø»PøÍ 
ÂÁ›UP.  
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13. (a) Explain the various forms of poverty in India, 

  C¢v¯õÂÀ ÁÖø©°ß £À÷ÁÖ £›©õÚ[PøÍ 
ÂÍUSP.  

Or 

 (b) How to mitigate the inequality in India? Describe 
the few remedial measures. 

  C¢v¯õÂÀ EÒÍ \©zxÁªßø©ø¯ GÆÁõÖ 
SøÓ¨£x? ]» wºÄ |hÁiUøPPøÍ ÂÁ›UP.  

14. (a) Elucidate the rural urban migration in India. 

  C¢v¯õÂÀ Qμõ©¨¦Ózv¼¸¢x |Pº¨¦Ó® ÷|õUQ¯ 
Ch®ö£¯ºÄPøÍ öuÎÄ£kzx[PÒ.  

Or 

 (b) List out the causes of migration in India. 

  C¢v¯õÂÀ Ch® ö£¯ºÁuØPõÚ Põμn[PøÍ 
£mi¯¼kP.  

15. (a) Briefly explain the trade policy in development of 
India. 

  C¢v¯õÂß ÁÍºa]°À ÁºzuPU öPõÒøPø¯ 
_¸UP©õP ÂÍUSP.  

Or 

 (b) Explain the role of the state in development. 

  ÁÍºa]°À Aμ\õ[Pzvß £[øP ÂÁ›UP.   

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Critically evaluate factors which are promote the 
economic development. 

 ö£õ¸Íõuõμ ÁÍºa]ø¯ FUSÂUS® PõμoPøÍ Â©º\Ú 
Ÿv¯õP ©v¨¤kP.  
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17. Examine the Sir Arthur Lewis model of structural 
economic growth and development. 

 Pmhø©¨¦ ö£õ¸Íõuõμ ÁÍºa] ©ØÖ® ÷©®£õmiß \º 
Bºuº ¿°ì ©õv›ø¯ Bμõ´P.  

18. What are the linkages poverty, inequality and human 
capital? Explain it. 

 ÁÖø©, \©zxÁªßø© ©ØÖ® ©Ûu ‰»uÚzvß 
öuõhº¦PÒ GßÚ? Aøu ÂÍUSP.  

19. Critically evaluate the Harris Todaro model of rural 
migration. 

 Qμõ©¨¦Ó Ch® ö£¯ºÂß íõ›ì ÷hõhõ÷μõ ©õv›ø¯ 
Â©º\Ú Ÿv¯õP ©v¨¤kP.  

20. Explain the importance of trade policy in development. 

 ÁÍºa]°À ÁºzuPU öPõÒøP°ß •UQ¯zxÁzøu 
ÂÍUSP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define the term of Urbanization. 

 |Pμ©¯©õUPÀ GßÓ £uzøu Áøμ¯ÖUP. 

2. Write a note on Workforce participation rate. 

 öuõÈ»õÍº £[÷PØ¦ ÂQu® £ØÔ¯ SÔ¨¦ ÁøμP. 

3. Mention few causes for low productivity. 

 SøÓ¢u EØ£zvUPõÚ ]» Põμn[PøÍU SÔ¨¤kP. 

4. What is agricultural marketing? 

 ÷ÁÍõsø© A[Põi¨£kzxuÀ GßÓõÀ GßÚ? 

5. Define the term of industrialization. 

 öuõÈÀ©¯©õUPÀ GßÓ £uzøu Áøμ¯ÖUP. 

6. What is industrial sickness? 

 öuõÈÀxøÓ |¼Ä GßÓõÀ GßÚ? 
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7. What is trade policy? 

 ÁºzuPU öPõÒøP GßÓõÀ GßÚ? 

8. Write a note of EXIM Policy. 

 EXIM öPõÒøP°ß SÔ¨¦ ÁøμP. 

9. Define Inflation. 

 £nÃUPzøu Áøμ¯ÖUP. 

10. Expansion of FERA and FEMA. 

 Â›ÁõUP® ö\´P FERA ©ØÖ® FEMA. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the characteristics of Indian economy as a 
developing economy. 

  ÁÍ¸® ö£õ¸Íõuõμ©õP C¢v¯¨ ö£õ¸Íõuõμzvß 
£s¦PøÍ ÂÍUSP. 

Or 

 (b) Describe the unemployment in India. 

  C¢v¯õÂÀ EÒÍ ÷Áø»°ßø©ø¯ ÂÁ›UP. 

12. (a) Briefly explain the role of agriculture in Indian 
economy. 

  C¢v¯¨ ö£õ¸ÍõuõμzvÀ ÷ÁÍõsø©°ß £[øP 
_¸U©õP ÂÍUSP. 

Or 

 (b) Narrate the causes for low productivity in 
agriculture. 

  ÷ÁÍõsø©°À SøÓ¢u EØ£zv vÓÝUPõÚ 
Põμn[PøÍ ÂÁ›UP. 
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13. (a) Explain the recent initiatives for promoting small 
scale industries in India. 

  C¢v¯õÂÀ ]Ö öuõÈÀPøÍ ÷©®£kzxÁuØPõÚ 
\«£zv¯ •¯Ø]PøÍ ÂÍUSP. 

Or 

 (b) Explain the social security measures in India. 

  C¢v¯õÂÀ EÒÍ \‰P £õxPõ¨¦ |hÁiUøPPøÍ 
ÂÍUSP. 

14. (a) Briefly explain the main features of EXIM policy. 

  EXIM öPõÒøP°ß •UQ¯ A®\[PøÍ _¸UP©õP 
ÂÍUSP. 

Or 

 (b) What are types of foreign capital in India? Explain. 

  C¢v¯õÂÀ öÁÎ|õmk ‰»uÚzvß ÁøPPÒ 
GßÚ? ÂÁ›UP. 

15.  (a) Write a short note on foreign exchange reserves in 
India.  

  C¢v¯õÂÀ EÒÍ A¢{¯a ö\»õÁo øP°¸¨¦ 
SÔzx J¸ ]Ö SÔ¨¦ ÁøμP. 

Or 

 (b) Briefly explain the impact of MNC’s on Indian 
economy. 

  C¢v¯¨ ö£õ¸ÍõuõμzvÀ MNC&PÎß uõUPzøu 
_¸UP©õP ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Why women workforce participation rate decline in India? 
Discuss 

 C¢v¯õÂÀ ö£s öuõÈ»õÍº £[÷PØ¦ ÂQu® Hß 
SøÓQÓx? ÂÁõvUP. 
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17. Elucidate the Indian agricultural marketing. 

 C¢v¯ ÷ÁÍõs ö£õ¸mPøÍ A[Põi¨£kzxuÀ 
öuÎÄ£kzx[PÒ. 

18. Critically evaluate the industrial policy 1991. 

 1991 öuõÈÀ öPõÒøPø¯ Â©º\Ú Ÿv¯õP ©v¨¤kP. 

19. Analyse the government’s policy towards foreign capital 
in India. 

 C¢v¯õÂÀ öÁÎ|õmk ‰»uÚ® SÔzu Aμ\õ[Pzvß 
öPõÒøPø¯ £S¨£õ´Ä ö\´P. 

20. What is inflation? Causes of Inflation and how its control? 
Explain. 

 £nÃUP® GßÓõÀ GßÚ? £nÃUPzvØPõÚ Põμn[PÒ 
©ØÖ® Aøu GÆÁõÖ Pmk¨£kzxÁx? ÂÁ›UP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is meant by Micro Economics? 

 ~soÚ¨ ö£õ¸Î¯À Gß£x GßÚ? 

2. State the meaning of deductive method. 

 £Szuõ´Ä B´Ä Gß£uß ö£õ¸Ò TÖ. 

3. Define: demand. 

 Áøμ¯Ö : ÷uøÁ. 

4. Write the Law of supply. 

 AÎ¨¦ Âv £ØÔ GÊxP. 

5. What is indifference Curve? 

 \©÷|õUS ÁøÍ÷Põk GßÓõÀ GßÚ? 

6. When a consumer is said to be in equilibrium? 

 ~Pº÷Áõº G¨÷£õx \©{ø»¯øhÁõº? 
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7. State the meaning of Income Elasticity of Demand. 

 Á¸Áõ´ ÷uøÁ ö|QÌa] Gß£uß ö£õ¸Ò TÖ. 

8. Calculate consumer surplus. 

 ~Pº÷Áõº E£› Gß£øu PnUQkP. 

9. List out the factors of Production. 

 EØ£zvU PõμoPøÍ Á›ø\¨£kzxP. 

10. Short note: constant return scale. 

 ]ÖSÔ¨¦ ©õÓõ ÂøÍÄ Âv. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What is deductive method? Write its merits. 

  £Szuõ´Ä •øÓ GßÓõÀ GßÚ? Auß |ßø©PøÍ 
GÊxP. 

Or 

 (b) Distinguish between Micro and Macro Economic 
analysis. 

  ~soÚ¨ ö£õ¸Î¯À ©ØÖ® ÷£›¯À ö£õ¸Î¯À 
÷ÁÖ£kzxP. 

12. (a) Explain what substitute goods and complementary 
goods are. 

  £v½mk £sh[PÒ ©ØÖ® xøn¨£sh[PÒ ¯õøÁ 
Gß£øu ÂÍUSP.  

Or 

 (b) Write the relation between value and price. 

  ©v¨¦ ©ØÖ® Âø» Cøh÷¯¯õÚ öuõhºøÁ 
GÊxP. 
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13. (a) List out the assumptions of Hicks preference theory. 
  QU]ß Â¸¨£zöu›Ä ÷Põm£õmiß Gk÷PõÒPøÍ 

£mi¯¼kP. 

Or 

 (b) Draw the Demand Curve with the help of Price 
Consumption Curve. 

  Âø» ~PºÄ ÷Põk xøn²hß ÷uøÁU ÷PõmiøÚ 
ÁøμP. 

14. (a) Define the Concept Price Elasticity of Demand. 
State the measurement of Price Elasticity of 
Demand. 

  Âø»z ÷uøÁö|QÌa] ÁøμÂ»UPn® u¢x, 
AuøÚ AÍÂk® •øÓPøÍ TÖP. 

Or 

 (b) Explain the importance of Consumer Surplus. 
  ~Pº÷Áõº E£›°ß •UQ¯zxÁzøu ÂÍUSP. 

15. (a) State the various stages of the Law of Variable 
Proportions. 

  ©õÖ£k® ÂQu[PÎß Âv°ß £À÷ÁÖ {ø»PøÍU 
TÖP. 

Or 

 (b) State about the Budget line or Budget Equations. 
  ÁμÄ ö\»ÄU ÷Põk AÀ»x ÁμÄ ö\»Ä \©ß£õk 

£ØÔU TÖP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe the basic principles of Scarcity definition of 
economics by Lionel Robbins. 

 ¼÷¯õÚÀ μõ¤ßåß Qøh¨£¸ø© C»UPnzvß 
Ai¨£øhU P¸zxUPøÍ ÂÁ›UPÄ®. 
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17. Analyze the Demand and Supply equilibrium in the 
Market. 

 A[Põi°À ÷uøÁ ©ØÖ® AÎ¨¦PÐUQøh÷¯¯õÚ 
\©{ø»ø¯ Bμõ´P. 

18. Discuss the Consumer’s equilibrium with the help of 
indifference curve analysis. 

\©÷|õUS ÁøÍU÷Põmk B´Âß xønU öPõsk 
~Pº÷Áõº \©{ø»ø¯ ÂÁõv. 

19. Define the concept Cross Elasticity of Demand. Analyze 
the measurement of Cross Elasticity of Demand. 

 SÖUSz÷uøÁ ö|QÌa]°ß ÁøμÂ»UPn®. 
SÖUSz÷uøÁ ö|QÌa] AÍÂk® •øÓPøÍ Bμõ´P. 

20. Explain the Producer’s equilibrium with the help of  
iso-quants. 

 \©EØ£zv ÁøÍ÷Põmiß xønU öPõsk EØ£zv¯õÍº 
\©{ø»ø¯ ÂÍUSP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Write the sources for Secondary data. 

 Cμshõ®{ø» ¦ÒÎ Â£μ[PÒ ö£ÖÁuØPõÚ 
Buõμ[PøÍ GÊxP.  

2. In Statistics ‘Population’ means? 

 ¦ÒÎ¯¼À ©UPmöuõøP Gß£x? 

3. Explain the concept of Chronological Classification. 

 Põ»£õS£õk £ØÔ ÂÍUSP. 

4. What is meant by Pie-diagram? 

 Ámh&ÂÍUP¨£h® Gß£x GßÚ? 

5. What is meant by good average? 

 |À» \μõ\› Gß£x ¯õx? 

6. What is Harmonic Mean? 

 Cø\ \μõ\› Gß£x ¯õx? 
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7. Write the formula for Range. 

 Ãa_ PnUQk® `zvμzøu GÊx.  

8. State the formula for Co-efficient of Variation. 

 ©õÖ£mk öPÊÂØPõÚ `zvμzøu TÖP.  

9. Short note on Kurtosis. 

 umhÍøÁ¨ £ØÔ ]Ö SÔ¨¦ ÁøμP.  

10. Short note: moments. 

 ]Ö SÔ¨¦ : u¸n[PÒ.  

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Specify the characteristics of Statistics. 

  ¦ÒÎ¯¼ß Snõv\¯[PøÍU SÔ¨¤kP.  

Or 

 (b) State the methods of collecting Primary Data. 

  •uÛø»¨ ¦ÒÎ Â£μ[PøÍ ÷\P›US® •øÓPøÍU 
TÖP.  

12. (a)  Explain the different parts of Table. 

  AmhÁøn°ß £À÷ÁÖ £SvPøÍ ÂÍUSP. 

Or 

 (b) What are the advantages of Diagram? 

  ÂÍUP¨£h[PÎß |ßø©PÒ ¯õøÁ? 

13. (a) Find the Mean value for the following data. 
X 10 20 30 40 50 60

f 4 3 5 10 5 3 
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  ¤ßÁ¸® Â£μ[PÐUS Tmk\μõ\› ©v¨ø£U 
PõsP.  

X 10 20 30 40 50 60

f 4 3 5 10 5 3 

Or 

 (b) Discuss the merits of Geometric Mean. 
  ö£¸UPÀ \μõ\›°ß {øÓPøÍ ÂÁõv.  

14. (a) What is quartile deviation? Explain. 
  PõÀ©õÚ Â»UP® GßÓõÀ GßÚ? ÂÍUSP. 

Or 

 (b) Define mean deviation. How does it differ from 
Standard Deviation? 
\μõ\› Â»UP® Áøμ¯Ö. vmhÁ¼UPzv¼¸¢x Ax 
G¨£i ÷ÁÖ£kQßÓx? 

15. (a) Compute the coefficient of skewness from the 
following data. 

  M = 18.8 6.141 =Q  2.253 =Q  

  RÌPsh Â£zv¼¸¢x ÷PõmhUöPÊU Psk¤i.  

  M = 18.8 6.141 =Q  2.253 =Q  

Or 

 (b) Mention the uses of Moments. 
  u¸n[PÎß £¯ßPøÍU SÔ¨¤kP.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the difference between Census method and 
Sampling method. 

 •Ê Po¨¦ •øÓUS®, ©õv› TöÓk¨¦ •øÓUS® EÒÍ 
÷ÁÖ£õkPøÍ ÂÁõv.  
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17. What is Classification? Discuss the different methods of 
Classification. 

 ÁøP¨£kzuÀ GßÓõÀ GßÚ? ÁøP¨£kzu¼ß £À÷ÁÖ 
•øÓPøÍ ÂÁõv.  

18. Calculate Median and Mode from the following data. 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x Cøh{ø» ©ØÖ® •Pk 
BQ¯ÁØøÓU PnUQkP.  

X 0-10 10-20 20-30 30-40 40-50 50-60 60-70

f 2 5 3 10 6 3 1 

19. From the following table calculate the value of Standard 
Deviation.  

Income  
(in Rs.) 

70-80 80-90 90-100 100-110

No. of persons 12 18 35 49 

Income  
(in Rs.) 

110-120 120-130 130-140 140-150

No. of persons 50 45 20 8 

 RÌUPsh £mi¯¼¸¢x \μõ\› Â»UP® ©v¨¦ PnUQkP.  
Á¸Áõ´  

(in Rs.) 
70-80 80-90 90-100 100-110

|£ºPÎß  
GsoUøP

12 18 35 49 

Á¸Áõ´  

(in Rs.) 
110-120 120-130 130-140 140-150

|£ºPÎß  
GsoUøP

50 45 20 8 

20. The Karl Pearsons coefficient of skewness of a 
distribution is 0.32. The Standard Deviation is 6.5 and 
Mean is 29.6. Find mode. 

 £μÁ¾UPõÚ PõºÀ¤¯º\Ûß ÷PõmhUöPÊ 0.32. 
vmhÂ»UP® 6.5. Tmk \μõ\› 29.6 •Pk Psk¤i. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is labour turnover? 

 öuõÈ»õÍº ¦μÒÄ GßÓõÀ GßÚ? 

2. What are the causes of migration? 

 Ch®ö£¯ºÄUPõÚ Põμn[PÒ GßÚ? 

3. What are the causes of industrial disputes? 

 öuõÈÀ ÷©õuÀPÐUPõÚ Põμn[PÒ GßÚ? 

4. How to prevent industrial disputes? 

 öuõÈÀ uPμõÖPøÍ uk¨£x G¨£i? 

5. Mention the factors affecting real wages. 

 Esø©¯õÚ Fv¯zøu £õvUS® PõμoPøÍU SÔ¨¤k. 

6. What are the methods of the wage payment system? 

 Fv¯ •øÓ°ß •øÓPÒ GßÚ? 

7. What are occupational hazards? 

 öuõÈÀ A£õ¯[PÒ GßÓõÀ GßÚ? 
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8. What do you mean by worker education? 

 öuõÈ»õÍº PÀÂ GßÓõÀ GßÚ? 

9. What are the main causes of child labour? 

 SÇ¢øu öuõÈ»õÍºPÎß •UQ¯ Põμn[PÒ GßÚ? 

10. What are the protections of women’s rights at work? 

 ÷Áø» ö\´²® ö£sPÎß E›ø©PÒ GßöÚßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What is absenteeism in law? Explain the causes of 
absenteeism. 

  \mhzvÀ BáμõPõux GßÓõÀ GßÚ? 
Á¸øP°ßø©UPõÚ Põμn[PøÍ ÂÍUSP. 

Or 

 (b) Write the impact of high labour turnover. 

  AvP öuõÈ»õÍº ¤μÒÄ Á¸Áõ°ß uõUPzøu 
ÁøμP. 

12. (a) What are the forms of industrial dispute? Explain it. 

  öuõÈÀ \ºaø\°ß ÁiÁ[PÒ GßÚ? Aøu 
ÂÍUSP. 

Or 

 (b) How to prevent industrial disputes? 

  öuõÈÀ uPμõÖPøÍ GÆÁõÖ uk¨£x? 

13. (a) What are the factors affecting real wages? Explain 
it. 

  Esø©¯õÚ Fv¯zøu £õvUS® PõμoPÒ ¯õøÁ? 
Aøu ÂÍUPÄ®. 

Or 
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 (b) What are the causes for the wage difference? 
Explain it. 

  Fv¯ ÷ÁÖ£õmiØPõÚ Põμn[PÒ GßÚ? Aøu 
ÂÍUSP. 

14. (a) Point out the benefits provided under social security 
measures in India. 

  C¢v¯õÂÀ \‰P £õxPõ¨¦ |hÁiUøPPÎß RÌ 
ÁÇ[P¨£k® |ßø©PøÍ _miUPõmhÄ®. 

Or 

 (b) Narrate the labour force working conditions in 
India. 

  C¢v¯õÂß öuõÈ»õÍº ÷Áø» {ø»ø©PøÍ 
ÂÁ›UP. 

15.  (a) Explain the problems of women workers. 

  ö£s öuõÈ»õÍºPÎß ¤μa\øÚPøÍ ÂÍUSP. 

Or 

 (b) Elucidate the constitutional and legislative 
problems of women workers. 

  ö£s öuõÈ»õÍºPÎß Aμ]¯»ø©¨¦ ©ØÖ® \mh¨ 
¤μa\øÚPøÍ öuÎÄ£kzx. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Elucidate the importance of labour problems in economic 
and social system of this country. 

 C¢u |õmiß ö£õ¸Íõuõμ ©ØÖ® \‰P Aø©¨¤À 
öuõÈ»õÍº ¤μa\øÚPÎß •UQ¯zxÁzøu 
öuÎÄ£kzxP. 

17. Critically examine the unfair labour practices disputes in 
India. 

 C¢v¯õÂÀ {¯õ¯©ØÓ öuõÈ»õÍº |øh•øÓPÒ 
\ºaø\PøÍ Â©º\Ú Ÿv¯õP Bμõ´P. 
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18. Discuss the merits and limitations of time wages and 
piece wages paid to industrial workers. 

 öuõÈÀxøÓ öuõÈ»õÍºPÐUS ÁÇ[P¨£k® ÷|μ Fv¯® 
©ØÖ® xsk Fv¯[PÎß uSvPÒ ©ØÖ® Áμ®¦PøÍ¨ 
£ØÔ ÂÁõvUPÄ®. 

19. What is meant by worker’s education? Describe the 
objectives and achievements of workers education in 
India. 

 C¢v¯õÂÀ öuõÈ»õÍº PÀÂ°ß ÷|õUP[PÒ ©ØÖ® 
\õuøÚPøÍ ÂÁ›.  

20. Describe the legislative provisions which govern their 
status as employees. Are these enough to promise them 
adequate security? 

 FÈ¯ºPÎß {ø»ø¯ {ºÁQUS® \mh ÂvPøÍ ÂÁ›UP, 
AÁºPÐUS ÷£õv¯ £õxPõ¨¦ EÖv¯ÎUP CøÁ 
÷£õx©õ? 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is the accounting cost? 

 PnUQ¯À ö\»Ä GßÚ? 

2. Write a note on variable cost. 

 ©õÔ ö\»Ä £ØÔ¯ SÔ¨¦ ÁøμP. 

3. State the meaning of equilibrium. 

 \©{ø»°ß ö£õ¸øÍU TÖ. 

4. What is the market? 

 A[Põi GßÓõÀ GßÚ? 

5. Define the term of price. 

 Âø» GßÓ £uzøu Áøμ¯ÖUP. 

6. Write a short note on Monopolistic competition. 

 \ºÁõvÚ¨ ÷£õmi £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 
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7. List out the theories of wage. 

 Fv¯ ÷Põm£õkPøÍ £mi¯¼k. 

8. What is the Euler theorem in economics? 

 ö£õ¸ÍõuõμzvÀ B´»º ÷uØÓ® GßÓõÀ GßÚ? 

9. How to calculate net profit? 

 {Pμ »õ£zøu GÆÁõÖ PnUQkÁx? 

10. Define the term of profit. 

 »õ£ £uzøu Áøμ¯ÖUP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b).  

11. (a) Describe the economies of scale. 

  ö£õ¸Íõuõμ ]UPÚ[PøÍ ÂÁ›UP. 

Or 

 (b) What is the relationship between total costs, fixed 
and variable costs? Explain. 

  ö©õzu ö\»ÄPÒ, {ø»¯õÚ ©ØÖ® ©õÔ ö\»ÄPÒ 
Cøh÷¯ EÒÍ öuõhº¦ GßÚ? ÂÁ›UP. 

12. (a) Find the market equilibrium under perfect 
competition. 

  {øÓÄ¨ ÷£õmi°ß RÌ A[Põia \©{ø»ø¯U 
PshÔP. 

Or 

 (b) List out the characteristics of perfect competition. 

  {øÓÄ¨ ÷£õmi°ß £s¦PøÍ £mi¯¼kP.  
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13. (a) What profit does a monopoly made explain with 
example? 

  •ØÖ›ø© GßÚ »õ£® DmkQÓx Gß£øu 
Euõμnzxhß ÂÍUSP. 

Or 

 (b) Sketch the characteristics of monopolistic 
competition. 

  \ºÁõvÚ¨ ÷£õmi°ß £s¦PøÍ ÁøμP. 

14. (a) Illustrate the theory of marginal productivity of 
distribution. 

  CÖv{ø» EØ£zvz vÓß £QºÄU ÷Põm£õmøh 
ÂÍUSP. 

Or 

 (b) Explain the risk bearing theory of profit. 

  Chº uõ[S »õ£® £ØÔ¯ ÷Põm£õmøh ÂÍUSP. 

15.  (a) Examine the innovation theory of profit. 

  »õ£zvß ¦xø©U ÷Põm£õmøh Bμõ´P. 

Or 

 (b) Describe the Keynesian theories of interest. 

  öP°ß]¯ß ÁmiU ÷Põm£õkPøÍ ÂÁ›UP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Enunciate the break-even analysis. 

 \›{Pºa&\©{ø» £S¨£õ´øÁ ÂÁ›UP. 
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17. What is the normal price? Study the long-run equilibrium 
of the firm and industry under conditions of perfect 
competition. 

 \õuõμn Âø» GßÚ? {øÓÄ¨ ÷£õmi°ß {ø»ø©PÎß 
RÌ {ÖÁÚ® ©ØÖ® öuõÈÀxøÓ°ß }sh  Põ» 
\©{ø»ø¯¨ £iUPÄ®. 

18. Why do monopoly markets get more profit? Explain with 
the help of illustration. 

 Hß •ØÖ›ø© A[PõiPÐUS AvP »õ£® QøhUS©õ? 
EÁø©°ß EuÂ²hß ÂÍUSP. 

19. Does the marginal productivity theory give a satisfactory 
explanation of wage determination in real life? 

 CÖv{ø» EØ£zvU ÷Põm£õk {á ÁõÌUøP°À Fv¯ 
{ºn¯® £ØÔ¯ v¸¨vPμ©õÚ ÂÍUPzøu AÎUQÓuõ? 

20. Evaluating the Keynesian theories of interest is superior 
to classical theory of interest.   

 öP°ß]¯ß ÁmiU ÷Põm£õhõÚx öuõßø©ÁõvPÎß 
ÁmiU ÷Põm£õmøh Âh E¯º¢uøÁ ©v¨¥k ö\´P. 

 
———————— 



  

S–7419   

B.A. DEGREE EXAMINATION, APRIL 2025 

Second Semester 

Economics 

BUSINESS STATISTICS – II 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is meant by correlation? 

 öuõhº¦ GßÓõÀ GßÚ? 

2. What is the formula of Spearman’s rank correlation? 

 ì¤¯º÷©Ûß uμÁ›ø\ öuõhº¤ß `zvμ® GßÚ? 

3. What is regression? 

 Ehß÷£õUS GßÓõÀ GßÚ? 

4. How regression concept useful to business forecasting? 

 ÁoP •ßPo¨¦US Ehß÷£õUS P¸zx GÆÁõÖ 
£¯ÝÒÍuõP C¸US®? 

5. What is permutation? 

 Á›ø\©õØÓ® GßÓõÀ GßÚ? 

6. What is probability? 

 {PÌuPÄ GßÓõÀ GßÚ? 
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7. What do you mean by seasonal variation? 

 £¸ÁPõ» ©õÖ£õk GßÓõÀ GßÚ? 

8. What is a time series? 

 ÷|μzöuõhº GßÓõÀ GßÚ? 

9. What is an index number? 

 SÔ±mk Gs GßÓõÀ GßÚ? 

10. Define Fisher index number. 

 L¤åº SÔ±mk Gsøn Áøμ¯ÖUP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Define Karl Pearson’s coefficient of correlation. 
What is it intended to measure? 

  PõºÀ ¤¯º\Ûß öuõhº¦ SnPzøu Áøμ¯ÖUPÄ®. 
Cx Gøu AÍÂh ÷Ásk®? 

Or 

 (b) Calculate Karl Pearson’s coefficient of correlation 
from the data given below. 

X : 2 4 6 8 10

Y : 12 14 16 18 20

  R÷Ç öPõkUP¨£mkÒÍ uμÄPÎ¼¸¢x PõºÀ 
¤¯º\Ûß öuõhº¦ SnPzøuU PnUQhÄ®. 

X : 2 4 6 8 10

Y : 12 14 16 18 20

12. (a) Find the regression line of Y on X for the following 
data and estimates Y when 9=X . 

X : 18 26 28 31 25 19 35

Y : 11 16 19 17 14 11 24
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  ¤ßÁ¸® uμÄPÐUS X CÀ Y Cß Ehß÷£õUSU 

÷PõmøhU PshÔ¢x 9=X . GÝ® ÷£õx Y I 
©v¨¤kP. 

X : 18 26 28 31 25 19 35

Y : 11 16 19 17 14 11 24

Or 

 (b) Describe the properties of regression analysis. 

  Ehß÷£õUS £S¨£õ´Âß £s¦PøÍ ÂÁ›UP. 

13. (a) Distinguish between permutation and combination. 

  Á›ø\©õØÓ® ©ØÖ® ÷\ºUøPø¯ ÷ÁÖ£kzvU 
Põmk. 

Or 

 (b) Two cards are drawn from a pack of cards at 
random. What is the probability that it will be 

  (i) a diamond and a hearth 

  (ii) a king and queen 

  (iii)  to kings? 

  J¸ Amøh¨ ö£õv°¼¸¢x Cμsk AmøhPÒ 
^μØÓ •øÓ°À GkUP¨£kQßÓÚ. 

  (i) J¸ øÁμ©õPÄ® Ak¨£õPÄ® 

  (ii) μõáõÁõPÄ® μõo¯õPÄ® 

  (iii) μõáõUPÐUS C¸¨£uØPõÚ {PÌuPÄ GßÚ? 

14. (a) The following table gives the normal weight of 
babies during the first twelve months of life. 

Age (in months) : 0 2 5 8 10 12

Weight (lbs): 7.5 10.25 15 16 18 21
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  ÁõÌUøP°À •uÀ £ßÛμsk ©õu[PÎÀ 
SÇ¢øuPÎß \õuõμn Gøhø¯ ¤ßÁ¸® 
AmhÁøn ÁÇ[SQÓx. 

Á¯x (©õu[PÎÀ) 0 2 5 8 10 12

Gøh (£Äsm) 7.5 10.25 15 16 18 21

Or 

 (b) Distinguish between seasonal variation, cyclical 
variation and secular trend. 

  £¸ÁPõ» ©õÖ£õk _ÇØ] ©õÖ£õk ©ØÖ® 
©ua\õº£ØÓ ÷£õUS BQ¯ÁØøÓ ÷ÁÖ£kzxP. 

15.  (a) What are the tests of a good index number? Define 
Fisher’ Ideal index number and show that it 
satisfies all these tests. 

  J¸ |À» SÔ±mk Gsoß ÷\õuøÚPÒ ¯õøÁ? 
L¤å›ß ]Ó¢u SÔ±mk Gsøn Áøμ¯Özx, C¢u 
÷\õuøÚPÒ AøÚzøu²® Ax v¸¨v¨£kzxQÓx 
Gß£øuU Põmk[PÒ. 

Or 

 (b) “An index number is a special type of average’ 
discuss. 

  ‘‘J¸ SÔ±mk Gs Gß£x J¸ ]Ó¨¦ ÁøP \μõ\›’’ 
ÂÁõvUP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. The coefficient of rank correlation of marks obtained by 
10 students in English and Economics was found to be 
0.5. It was later discovered that the difference in ranks in 
the two subjects obtained by one of the students was 
wrongly taken as 3 instead of 7. Find the correct 
coefficient of rank correlation 
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 B[Q»® ©ØÖ® ö£õ¸ÍõuõμzvÀ 10 ©õnÁºPÒ ö£ØÓ 

©v¨ö£sPÎß uμÁ›ø\ öuõhº¦ SnP® 0.5 BP 

Põn¨£mhx. ©õnÁºPÎÀ J¸Áº ö£ØÓ Cμsk 

£õh[PÎÀ ÷μ[U Âzv¯õ\® 7 US £v»õP  3 GÚ uÁÓõP 

GkzxU öPõÒÍ¨£mhx Gß£x ¤ßÚº 

Psk¤iUP¨£mhx. uμÁ›ø\ öuõhº¦PÎß \›¯õÚ 

SnPzøuU PshÔ¯Ä®. 

17. Calculate the two regression equations of X on Y and Y on 

X from the data given below taking deviations from 

actual means of X and Y. 

Price  (Rs): 10 12 13 12 16 15

Amount demanded: 40 38 43 45 37 43

 Estimate the likely demand when the price is Rs. 20 

 X ©ØÖ® Y Cß Esø©¯õÚ ÁÈ•øÓPÎ¼¸¢x 

Â»PÀPøÍ Gkzx R÷Ç öPõkUP¨£mkÒÍ 

uμÄPÎ¼¸¢x Y ©ØÖ® X CÀ Y Cß Cμsk 

Ehß÷£õUS \©ß£õkPøÍU PnUQhÄ®. 

Âø» (¹) 10 12 13 12 16 15

öuõøP ÷Põμ¨£mhx 40 38 43 45 37 43

 Âø» ¹. 20 BP C¸US® ÷£õx ÷uøÁø¯ ©v¨¤kP. 

18. A bag contains 7 red, 12 white and 4 green balls. What is 

the probability that:  

 (a) 3 balls draw are all white and  

 (b) 3 balls drawn one of each colour. 



S–7419 

  

  6

 J¸ ø£°À 7 ]Á¨¦ , 12 öÁÒøÍ ©ØÖ® 4 £aø\ 
£¢xPÒ EÒÍÚ. {PÌuPÄ GßÚ 

 (A) £¢xPÒ AøÚzx® öÁÒøÍ ©ØÖ® 

 (B) 3 £¢xPÒ JÆöÁõ¸ {Ózv¾® JßÖ 

Áøμ¯¨£mhøÁ. 

19. Compute the average seasonal movement for the 

following series. 

Year Quarterly Production

 I II III IV 

2015 3.5 3.9 3.4 3.6 

2016 3.5 4.1 3.7 4.0 

2017 3.5 3.9 3.7 4.2 

2018 4.0 4.6 3.8 4.5 

2019 4.1 4.4 4.2 4.5 

 ¤ßÁ¸® öuõh¸UPõÚ \μõ\› £¸ÁPõ» C¯UPzøuU 

PnUQkP. 

Bsk  Põ»õsk EØ£zv

 I II III IV 

2015 3.5 3.9 3.4 3.6 

2016 3.5 4.1 3.7 4.0 

2017 3.5 3.9 3.7 4.2 

2018 4.0 4.6 3.8 4.5 

2019 4.1 4.4 4.2 4.5 
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20. Using the following data, construct Fisher’s Ideal Index 
number and show how it satisfies Factor reversal test and 
time reversal test. 

Commodity Base year Base Year Current year Current year
 Price (Rs) Quantity Price Quantity 
Wheat 8 50 20 60 
Ghee 2 15 6 10 
Firewood 1 20 2 25 
Sugar 2 10 5 8 
Cloth 1 40 3 30 

 ¤ßÁ¸® uμøÁ¨ £¯ß£kzv Fisher’s Ideal Index 
Gsøn  E¸ÁõUQ, Ax Põμo uø»RÌ ÷\õuøÚ ©ØÖ® 
÷|μ uø»RÌ ÷\õuøÚø¯ GÆÁõÖ v¸¨v¨£kzxQÓx 
Gß£øuU PõmkQÓx. 

£sh® Ai¨£øh Bsk Ai¨£øh Bsk |h¨¦ |h¨¦

 Âø» (¹) AÍÄ Âø» (¹) AÍÄ

÷Põxø© 8 50 20 60 
ö|´ 2 15 6 10 
ÂÓS 1 20 2 25 
\ºUPøμ 2 10 5 8 
xo 1 40 3 30 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is managerial economics? 

 {ºÁõP¨ ö£õ¸Íõuõμ® GßÓõÀ GßÚ? 

2. What is meant by sales maximization? 

 ÂØ£øÚø¯ AvP¨£kzxuÀ GßÓõÀ GßÚ? 

3. What are generic strategies? 

 ö£õxÁõÚ EzvPÒ GßÓõÀ GßÚ? 

4. Write a note of economics of scale. 

 ö£õ¸Íõuõμzvß ]UPÚ® SÔ¨¦ ÁøμP. 

5. What is transfer pricing? 

 £›©õØÓ Âø» GßÓõÀ GßÚ? 

6. Define the term of price. 

 Âø» GßÓ £uzøu Áøμ¯ÖUP. 

7. What is marketing channel? 

 A[Põi ÷\ÚÀ GßÓõÀ GßÚ? 

Sub. Code 
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8. Write a short note of product mix. 

 EØ£zvU P»øÁ ]Ö SÔ¨¦ ÁøμP. 

9. What is net present value method? 

 {Pμ uØ÷£õøu¯ ©v¨¦•øÓ GßÓõÀ GßÚ? 

10. What is meant by cost of capital? 

 ‰»uÚ ö\»Ä GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all the questions choosing either (a) or (b). 

11. (a) Describe the objectives of a modern business firm. 
  J¸ |ÃÚ ÁoP {ÖÁÚzvß ÷|õUP[PøÍ ÂÁ›UP. 

Or 

 (b) Distinguish between managerial economics and 
economics. 

  {ºÁõP ö£õ¸Íõuõμ® ©ØÖ® ö£õ¸Íõuõμ® 
BQ¯ÁØøÓ ÷ÁÖ£kzvU Põmk.  

12. (a) Explain the ‘five forces’ model of competition. 

  ÷£õmi°ß ‘I¢x’ £øhPÒ ©õv›ø¯ ÂÍUSP. 

Or 

 (b) Discuss the economics of scale as barrier to entry. 
  ~øÇÁuØPõÚ uøh¯õP ]UPÚ¨ ö£õ¸Íõuõμzøu¨ 

£ØÔ ÂÁõvUP. 

13. (a) Briefly explain skimming strategy of pricing 
technique. 

  Âø»°hÀ ~m£zvß ìQ®ª[ Ezvø¯ _¸UP©õP 
ÂÍUSP. 

Or 
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 (b) Describe the product life cycle pricing. 

  EØ£zv ÁõÌUøP _ÇØ] Âø»ø¯ ÂÁ›UP. 

14. (a) Explain the Dorfman–Steiner condition for 
advertising expenditure. 

  ÂÍ®£μa ö\»ÄUPõÚ Dorfman – Steiner ÂÍUSP. 

Or 

 (b) Explain the product mix with examples. 

  EØ£zvU P»øÁø¯ GkzxUPõmkPÐhß ÂÍUSP. 

15. (a) Describe the net present value method. 

  {Pμ uØ÷£õøu¯ ©v¨¦ •øÓø¯ ÂÁ›UP. 

Or 

 (b) Briefly explain dividend valuation method. 

  DÄzöuõøP ©v¨¥mk •øÓø¯ _¸UP©õP ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Critically analyze the Managerial Utility Maximizing 
Model developed by Williamson. What are the key 
components of managerial utility, and how might this 
model lead to decisions that deviate from profit 
maximization. 

 ÂÀ¼¯®\ß E¸ÁõUQ¯ ÷©÷Úáº ³mi¼mi 
÷©U]ø©][ ©õhø» Â©º\Ú Ÿv¯õP £S¨£õ´Ä ö\´P. 
{ºÁõP £¯ß£õmiß •UQ¯ TÖPÒ GßÚ, C¢u 
©õv›¯õÚx »õ£zøu AvP›¨£vÀ C¸¢x Â»S® 
•iÄPÐUS GÆÁõÖ ÁÈÁSUS®. 
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17. Analyze Michael Porter’s Five Forces Model of 
competition. How does this model help firms understand 
the competitive forces in their industry, and what 
strategic actions can they take to improve their market 
position? 

 ø©U÷PÀ ÷£õºmh›ß I¢x £øhPÎß ÷£õmi, ©õv›ø¯ 
£S¨£õ´Ä ö\´P. {ÖÁÚ[PÒ u[PÒ öuõÈÀxøÓ°À 
EÒÍ ÷£õmi \UvPøÍ¨ ¦›¢xöPõÒÍ C¢u ©õv› 
GÆÁõÖ EuÄQÓx, ÷©¾® AÁºPÎß A[Põi {ø»ø¯ 
÷©®£kzu AÁºPÒ GßÚ ~ÝUP |hÁiUøPPøÍ 
GkUP»õ®? 

18. Explain the penetration pricing strategy. In what 
situations is this strategy preferable? Discuss the risks 
and benefits associated with penetration pricing. 

 Fk¸ÁÀ Âø» {ºn¯ Ezvø¯ ÂÍUSP. G¢u 
`Ì{øPÎÀ C¢u ~ÝUP Â¸®£zuUPx? Fk¸ÁÀ 
Âø»²hß öuõhº¦øh¯ wø©PÒ ©ØÖ® |ßø©PøÍ¨ 
£ØÔ ÂÁõvUP. 

19. Critically evaluate the Dorfman-Steiner condition for 
advertising expenditure and its implications for a firm’s 
advertising strategy. 

 ÂÍ®£μa ö\»ÂÚ[PÐUPõÚ Dorfman–Steiner {ø»ø¯ 
Â©º\Ú Ÿv¯õP ©v¨¤hÄ® ©ØÖ® J¸ {ÖÁÚzvß 
ÂÍ®£μ EzvUPõÚ Auß uõUP[PøÍ²® ÂÁ›UP. 

20. Describe the payback method for evaluating investments. 
What are its key features, advantages, and limitations? 
Provide an example to illustrate how the payback period 
is calculated and used in decision-making. 

 •u½kPøÍ ©v¨¥kÁuØPõÚ v¸¨¤a ö\¾zx® •øÓø¯ 
ÂÁ›UP. Auß •UQ¯ A®\[PÒ, |ßø©PÒ ©ØÖ® 
Áμ®¦PÒ GßÚ? v¸¨¤a ö\¾zx® Põ»® GÆÁõÖ 
PnUQh¨£kQÓx ©ØÖ® •iöÁk¨£vÀ 
£¯ß£kzu¨£kQÓx Gß£øu ÂÍUSÁuØS J¸ 
Euõμnzøu ÁÇ[SP. 

——————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you mean by national Income? 

 ÷u]¯ Á¸©õÚ® GßÓõÀ GßÚ? 

2. Define: Gross domestic product. 

 Áøμ¯Ö : ö©õzu EÒ|õmk EØ£zv. 

3. What is Unemployment? 

 ÷Áø»°ßø© GßÓõÀ GßÚ? 

4. What do you understand by aggregate demand? 

 ö©õzu ÷\øÁ ‰»® } GßÚ ¦›¢x öPõÒQÓõ´? 

5. Write a short note on consumption. 

 ~PºÄ £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 

6. Give a note on equilibrium. 

 \©{ø» £ØÔ SÔ¨¦ ÁøμP. 
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7. State the meaning of inflation. 

 £nÃUPzvß ö£õ¸øÍU TÖP. 

8. What is money? 

 £n® GßÓõÀ GßÚ? 

9. What do you understand by hypothesis? 

 P¸x÷PõÒ ‰»® } GßÚ ¦›¢x öPõÒQÓõ´? 

10. Give a note on income. 

 Á¸©õÚ® £ØÔ¯ SÔ¨¦ ÁøμP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Discuss the various methods of calculating national 
Income. 

  ÷u]¯ Á¸©õÚzøuU PnUQkÁuØPõÚ £À÷ÁÖ 
•øÓPøÍ¨ £ØÔ ÂÁõv. 

Or 

 (b) Briefly explain the value added approach. 

  ©v¨¦ Tmh¨£mh AqS•øÓø¯ _¸UP©õP 
ÂÍUSP. 

12. (a) What are the different types of unemployment? 

  ÷Áø»°ßø© £À÷ÁÖ ÁøPPÒ GßÚ? 

Or 

 (b) List out the assumptions of classical theory. 

  ÷Põm£õmiß AÝ©õÚ[PøÍ £mi¯¼kP. 
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13. (a) Bring out the components of effective demand. 

  £¯ÝÒÍ ÷uøÁ°ß TÖPøÍ öÁÎUöPõnºP. 

Or 

 (b) Define multiplier, State its relationship with MPC. 

  ö£¸UQø¯ Áøμ¯Ö. MPC EhÚõÚ Auß 

öuõhºø£U TÖP. 

14. (a) Narrate the recent development in Philips curve 

analysis. 

  ¤¼¨ì ÁøÍÄ £S¨£õ´Âß \«£zv¯ ÁÍºa]ø¯ 

ÂÁ›. 

Or 

 (b) Discuss the wholesale price index and producer 

price index. 

  ö©õzu Âø»U SÔ±k ©ØÖ® u¯õ›¨£õÍº Âø»U 

SÔ±møh¨ £ØÔ ÂÁõv. 

15.  (a) What is the main theme of the relative income 

hypothesis? 

  EÓÂÚº Á¸©õÚ® P¸x÷PõÎß •UQ¯ 

P¸¨ö£õ¸Ò GßÚ? 

Or 

 (b) Mention the assumptions of permanent income 

hypothesis. 

  {μ¢uμ Á¸©õÚU P¸x÷PõÒ AÝ©õÚzøuU 

SÔ¨¤kP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Examine the real and nominal growth rate of GDP. 

 ö©õzu EÒ|õmk EØ£zv°ß Esø©¯õÚ ©ØÖ® 
ö£¯μÍÄ ÁÍºa] ÂQuzøu Bμõ´P. 

17. Examine the Say’s law of markets and show how  
J.M. Keynes disproves it. 

 \¢øuPÎß ö\õÀ¼ß Âvø¯ Bμõ´¢x, ÷á.G®. Rßì 
Aøu G¨£i {¹¤zuõº Gß£øuU PõmkP. 

18. Explain the marginal efficiency of capital. What are the 
factors that determine? 

 ‰»uÚzvß ÂÎ®¦z vÓøÚ ÂÍUSP. GßÚ Põμo 
wº©õÛUQÓx? 

19. Illustrate the quantity theory of money. 

 £nzvß AÍÄ ÷Põm£õmøh ÂÍUSP. 

20. Examine the absolute income hypothesis. 

 •Êø©¯õÚ Á¸©õÚU P¸x÷PõøÍ Bμõ´P. 

  
———————— 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Logarithms. 

 ©hUøPPøÍ Áøμ¯ÖUPÄ®. 

2. Find : m
a xlog . 

 Psk¤i : m
a xlog . 

3. Solve : 1299 +=+ xx . 

 wºUP : 1299 +=+ xx . 

4. What is equation? 

 \©ß£õk GßÓõÀ GßÚ? 

5. State the meaning of set theory. 

 Pn[PÎß ö£õ¸øÍU TÓÄ®. 

6. Write a short note on universal set. 

 E»PÍõÂ¯ Pn[PøÍ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

Sub. Code 
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7. Obtain the equation of the straight line if y -intercept  
is 3 and slope is –4. 

 y  öÁmkzxsk 3 ©ØÖ® \õ´Ä –4 GÛÀ ÷|º÷Põmiß 
\©ß£õmøh ö£ÓÄ®. 

8. Give the meaning of functions. 

 ö\¯À£õkPÎß ö£õ¸øÍU öPõkUPÄ®. 

9. What is the meaning of matrix? 

 AoPÒ Gß£x ¯õx? 

10. If 







−

=
65
02

A  and 






−
=

14
63

B , find BA + . 

 







−

=
65
02

A  ©ØÖ® 






−
=

14
63

B  GÛÀ BA +  ø¯U 

PõsP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) List out the uses of logarithmic tables. 

  ©hUøP AmhÁøn°ß £¯ß£õkPøÍ 
Á›ø\¨£kzxP. 

Or 

 (b) Write a short note on laws of operation. 

  ö\¯À£õmk ÂvPÒ £ØÔ¯ J¸ ]Ö SÔ¨ø£ 
GÊx[PÒ. 

12. (a) Solve : ( ) ( ) 1512374 −+=− xx . 

  wºUP : ( ) ( ) 1512374 −+=− xx . 

Or 



S–7422 

  

  3

 (b) Solve the following quadratic equations 
08103 2 =++ xx . 

  PõÀ©õÚ \©ß£õmøh Psk¤iUPÄ® 

08103 2 =++ xx .  

13. (a) Find BA ×  and AB ×  where { }3,2,1=A  and 
{ }4,3,2=B . 

  { }3,2,1=A  ©ØÖ® { }4,3,2=B  GÛÀ BA ×  ©ØÖ® 

AB ×  ø¯ PõsP. 

Or 

 (b) Explain the laws of set theory. 

  ÷Põm£õmiß Âvø¯ ÂÍUS[PÒ.  

14. (a) Obtain the slope of the line joining the two points 
( )3,5  and ( )1,2 . 

  ( )3,5  ©ØÖ® ( )1,2  BQ¯ Cμsk ¦ÒÎPøÍ 
CønUS® J¸ ÷|º÷Põmiß \õ´øÁ¨ ö£Ö[PÒ. 

Or 

 (b) 142 2 ++= xxy  can be taken for graphical 
representation. Explain. 

  142 2 ++= xxy  GßÓ PõÀ©õÚ \©ß£õmiøÚ 
Áøμ£hzvß ‰»® ÂÍUSP. 

15.  (a) Find the inverse of the matrix 







=

43
12

A . 

  







=

43
12

A  Gß£øÁUS uø»RÌ Aoø¯U PõsP. 

Or 
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 (b) If 







−

=
21
13

A , show that 0752 =+− IAA . 

  







−

=
21
13

A  GÛÀ 0752 =+− IAA  Gß£øuU 

PõmkQÓx. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Find the value of 12.1684.19 ÷  (use logarithms). 

 ©hUøPø¯ £¯ß£kzx 12.1684.19 ÷  ß ©v¨ø£ PõsP. 

17. Solve the quadratic equation 0253 2 =−+ xx  by the 
standard formula method. 

 {ø»¯õÚ `zvμ •øÓ ‰»©õP C¸£ia \©ß£õk 

0253 2 =−+ xx I wºUPÄ®. 

18. If { }3,2,1=A , { }5,4,3,1=B  and { }6,5,4,2=C  verify the 
identify  

 (a) ( ) ( )CBACBA ∪∪=∪∪  

 (b) ( ) ( )CBACBA ∩∩=∩∩ . 

 { }3,2,1=A , { }5,4,3,1=B  ©ØÖ® { }6,5,4,2=C  GÛÀ 
RÌUPshøÁø¯a \›£õºUP. 

 (A) ( ) ( )CBACBA ∪∪=∪∪  

 (B) ( ) ( )CBACBA ∩∩=∩∩ . 

19. Explain the types of functions. 

 \©ß£õmiß ÁøPPøÍ ÂÁ›. 

20. Describe the various types of matrix. 

 AoPÎß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 
 

———————— 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Mention any two non-economic determinants of economic 
growth. 

 ö£õ¸Íõuõμ ÁÍºa]ø¯ wº©õÛUS® ö£õ¸Íõuõμ©ØÓ 
PõμoPÒ CμsiøÚ SÔ¨¤kP. 

2. Define ‘National Income’. 

 ÷u]¯ Á¸Áõ´ Áøμ¯Ö. 

3. What is ‘Population Explosion’? 

 ©UPm öuõøP öÁi¨¦ GßÓõÀ GßÚ? 

4. What is population policy? 

 ©UPmöuõøPU öPõÒøP Gß£x GßÚ? 

5. What is meant by capital formation? 

 ‰»uÚz vμm] Gß£uß ö£õ¸Ò ¯õx? 

6. Specify the kinds of unemployment. 

 ÷Áø»°sø©°ß ÁøPPøÍ SÔ¨¤kP. 

Sub. Code 
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7. What is industrial policy? 

 öuõÈØ öPõÒøP GßÓõÀ GßÚ? 

8. List out the promoting measures of SSI. 

 SSI øÍ FUSÂUS® AÍÃkPøÍ £mi¯¼kP. 

9. Define Planning. 

 vmhªhÀ Áøμ¯Ö. 

10. Short note: Plan holidays. 

 ]Ö SÔ¨¦ vmhPõ» Âk•øÓ. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Distinguish between economic growth and 
development. 

  ö£õ¸Íõuõμ ÁÍºa] ©ØÖ® •ß÷ÚØÓ® 
÷ÁÖ£kzxP. 

Or 

 (b) What is the basis for 1st Generation reforms in 
India? 

  C¢v¯õÂÀ 1 Áx uø»•øÓ ^ºv¸zu[PÎß 
Ai¨£øh GßÚ? 

12. (a) Explain the importance of Human Resource 
Development. 

  ©Ûu ÁÍ •ß÷ÚØÓzvß •UQ¯zxÁ[PøÍ 
ÂÍUSP. 

Or 

 (b) Bring out the salient features of the population 
policy, 2000 of India. 

  C¢v¯ ©UPmöuõøPU öPõÒøP 2000 ß C¯À¦PøÍ 
öÁÎUöPõnºP. 
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13. (a) State the Population policy of Tamilnadu. 

  uªÌ|õmiß ©UPmöuõøPU öPõÒøPø¯ TÓÄ®. 

Or 

 (b) List out the causes of unemployment in India. 

  C¢v¯õÂÀ ÷Áø»°ßø©UPõÚ Põμn[PøÍ 
£mi¯¼kP. 

14. (a) What are the problems of small scale industries? 

  ]Ö öuõÈÀ {ÖÁÚ[PÎß ¤μa]øÚPÒ ¯õøÁ? 

Or 

 (b) What are the roles of small scale industries in the 
economic development of India? 

  C¢v¯õÂÀ ]ÖöuõÈÀ {ÖÁÚ[PÎß ö£õ¸Íõuõμ 
•ß÷ÚØÓzvß £[S ¯õx? 

15.  (a) Explain the main objectives of Indian Five Year 
Plans. 

  C¢v¯õÂß I¢uõsk vmh[PÎß ÷|õUP[PøÍ 
ÂÍUSP. 

Or 

 (b) Brief about recent five year plan. 

  uØ÷£õøu¯ I¢uõsk vmhzvøÚ £ØÔ _¸[P 
GÊxP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the economic and non-economic factors 
bottlenecks of economic development. 

 ö£õ¸Íõuõμ •ß÷ÚØÓzvØS uøh¯õÚ ö£õ¸Íõuõμ 
©ØÖ® ö£õ¸Íõuõμ ©ØÓ PõoPøÍ ÂÁõv. 
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17. Describe the causes for rapid growth of Population in 
India. 

 C¢v¯õÂÀ Av÷ÁP©õÚ ©UPmöuõøP ÁÍºa]UPõÚ 
Põμn[PøÍ ÂÁ›UP. 

18. Summarize the various Employment Generation 
Programme in India. 

 C¢v¯õÂÀ ¤ß£ØÓ£k® £À÷ÁÖ ÷Áø»Áõ´¨¦z 
vmh[PøÍ öuõSzxøμUP. 

19. Discuss the salient features of the new industrial policy, 
1991. 

 C¢v¯ öuõÈØöPõÒøP 1991 ß •UQ¯ C¯À¦PøÍ 
ÂÁõv. 

20. Discuss the prerequisites of successful Planning. 

 \›¯õÚz vmhªh¾UPõÚ •ß|hÁiUøPPøÍ ÂÁõv. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you mean by interest rate? 

 Ámi ÂQu® GßÓõÀ GßÚ? 

2. What are the factors shifting in the LM curve? 

 LM ÁøÍÂÀ GßÚ PõμoPÒ ©õÖQßÓÚ? 

3. What is monetary policy? 

 £nÂ¯À öPõÒøP GßÓõÀ GßÚ? 

4. Mention the primary functions of money. 

 £nzvß •ußø©¯õÚ ö\¯À£õkPøÍ SÔ¨¤k.  

5. Write a note of fiscal expansion. 

 {v Â›ÁõUP® £ØÔ¯ SÔ¨¦ ÁøμP.  

6. What is fiscal policy? 

 {vU öPõÒøP GßÓõÀ GßÚ? 

Sub. Code 
22BAE4C1 



S–7424 

  

  2

7. What are the phases of the business cycle? 

 ÁoP _ÇØ]°ß Pmh[PÒ GßÚ? 

8. What are the macroeconomic variables? 

 ÷£›°¯À ö£õ¸Íõuõμ ©õÔPÒ GßÓõÀ GßÚ? 

9. Define growth. 

 ÁÍºa]ø¯ Áøμ¯ÖUP.  

10. State the role of technology and growth. 

 öuõÈÀ~m£® ©ØÖ® ÁÍºa]°ß £[øPU SÔ¨¤kP.  

 Part B  (5 × 5 = 25) 

Answer all questions, either (a) or (b). 

11. (a) Why is the LM curve a depiction of equilibrium in 
the money market? What factors cause the LM 
curve to shift to the right or left? 

  LM ÁøÍÄ Hß £n A[Põi°À \©{ø»°ß 

]zu›¨£õP EÒÍx? LM ÁøÍøÁ Á»x AÀ»x 
Chx £UP® ©õØÓ GßÚ PõμoPÒ Põμn©õQßÓÚ? 

Or 

 (b) Explain the factors determining the investment. 

  •u½møh {ºn°US® PõμoPøÍ ÂÍUSP. 

12. (a) Describe the instruments of monetary policy. 

  £nÂ¯À öPõÒøP°ß P¸ÂPøÍ ÂÁ›UP.  

Or 

 (b) Elucidate the classical dichotomy of monetary 
policy. 

|õn¯U öPõÒøP°À öuõsø©ÁõvPÎß Cμmøh¨ 
ö£õ¸Íõuõμzøu öuÎÄ£kzxP.  



S–7424 

  

  3

13. (a) Enunciate views of fiscal policy in Keynesian theory. 

  öP°ß]¯ß ÷Põm£õmiÀ {vU öPõÒøP°ß 
P¸zxUPøÍU TÖ.  

Or 

 (b) List out the criticisms of fiscal policy. 

  {vU öPõÒøP°ß Â©º\Ú[PøÍ £mi¯¼k.  

14. (a) Write a short note on different phases of business 
cycle. 

  ÁoP _ÇØ]°ß öÁÆ÷ÁÖ Pmh[PøÍ¨ £ØÔ J¸ 
]Ö SÔ¨¦ ÁøμP.  

Or 

 (b) Describe the Keynesian theory of business cycle. 

  ÁoP _ÇØ]°ß öP°ß]¯ß ÷Põm£õmøh 
ÂÁ›UP.  

15. (a) Narrate the role of labour in economic growth. 

  ö£õ¸Íõuõμ ÁÍºa]°À öuõÈ»õÍºPÎß £[øP 
ÂÁ›UP.  

Or 

 (b) Write a short note on role of capital in growth. 

  ÁÍºa]°À ‰»uÚzvß £[S £ØÔ J¸ ]Ö SÔ¨¦ 
ÁøμP.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Enunciate the derivation and shifting of IS–LM curves. 

 IS–LM ÁøÍÄPÎß ÁÈz÷uõßÓÀ ©ØÖ® ©õØÓzøu 
ÂÁ›UP.  

17. Elaborate the functions of money. 

 £nzvß ö\¯À£õkPøÍ ÂÁ›UP.  
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18. Explain the instruments of fiscal policy. 

 {vU öPõÒøP°ß P¸ÂPøÍ ÂÍUSP. 

19. Elucidate classical theory of business cycle. 

 ÁoP _ÇØ]°ß öuõsø©U ÷Põm£õmøh öuÎÄ£kzx.  

20. Analyse the impact of technology in economic growth. 

 ö£õ¸Íõuõμ ÁÍºa]°À öuõÈÀ~m£zvß uõUPzøu 
£S¨£õ´Ä ö\´P.  

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define production function. 

 EØ£zva \õºÄ Áøμ¯ÖUP. 

2. What do you mean by revenue? 

 Á¸Áõ´ GßÓõÀ GßÚ? 

3. What does the sign  of the first derivative tell us about a 
function? 

 •uÀ ÁÈz÷uõßÓ¼ß Aøh¯õÍ® J¸ \õº¦ £ØÔ |©US 
GßÚ ö\õÀQÓx? 

4. What are Derivatives? 

 öh›÷ÁiÆPÒ GßÓõÀ GßÚ? 

5. Find the total differential dz , of the function 
yxz 24 2 += . 

 yxz 24 2 +=  ö©õzu \õº¦ dz  ÷ÁÖ£õmøhU 
PshÔ¯Ä®. 

Sub. Code 
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6. What is the first derivative called? 
 •uÀ ÁÈz÷uõßÓÀ GßÚ AøÇUP¨£kQÓx? 

7. What do you mean by consumer’s equilibrium? 
 ~Pº÷Áõ›ß \©{ø» GßÓõÀ GßÚ? 

8. To find 
dx
dy

 and ,
dy
dx

 

( ) 221010, yxxyyxyxfz −−++== . 

 
dx
dy

©ØÖ® ,
dy
dx

 Psk¤iUP, 

( ) 221010, yxxyyxyxfz −−++== . 

9. What is linear programming? 
 ÷|›¯À {μ»õUP® GßÓõÀ GßÚ? 

10. What is the formula for the maximum value of a function? 
 J¸ \õº¤ß AvP£m\ ©v¨¦UPõÚ `zvμ® GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) To derive the following implicit function 
yyxy 36332 =+−+ . 

  ¤ßÁ¸® ©øÓ•P©õÚ ö\¯À£õmøh¨ ö£ÖÁuØS 

yyxy 36332 =+−+ . 

Or 

 (b) Find all first partial derivatives of the following 
functions: 

  (i) ( ) yxyyxyxf 3222 2, ++=  

  (ii) 
( )2),,(

zxy
xzyxf
−

=  
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  ¤ßÁ¸® \õº¦PÎß AøÚzx •uÀ £Sv 
ÁÈz÷uõßÓÀPøÍU PshÔ¯Ä®: 

  (i) ( ) yxyyxyxf 3222 2, ++=  

  (ii) 
( )2),,(

zxy
xzyxf
−

=  

12. (a) Find and classify the stationary points of the 
function ( ) 24 34 −+= xxxf . 

  ( ) 24 34 −+= xxxf  \õº¤ß {ø»¯õÚ ¦ÒÎPøÍU 
PshÔ¢x ÁøP¨£kzuÄ®. 

Or 

 (b) Find the maximum and minimum value of the 
function: 

  ( ) 2036212 23 −+−= xxxxf . 

  ö\¯À£õmiß AvP£m\ ©ØÓ® SøÓ¢u£m\ 
©v¨ø£U PshÔ¯Ä®: 

  ( ) 2036212 23 −+−= xxxxf  

13. (a) Determine the partial derivative of the function: 

  ( ) yxyxf 43, += . 

  \õº¤ß £Sv ÁÈz÷uõßÓø»z wº©õÛUPÄ® : 

 ( ) yxyxf 43, += . 

Or 

 (b) Find the total differential of 
yx

xz
+

= . 

  
yx

xz
+

=  Cß ö©õzu ÷ÁÖ£õmøhU PshÔ¯Ä®. 
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14. (a) Describe the difference between optimum and 
equilibrium. 

  EP¢u ©ØÖ® \©{ø»US Cøh°»õÚ ÷ÁÖ£õmøh 
ÂÁ›UP. 

Or 

 (b) Find the consumer surplus if 240 qqp −−=  and 

the consumer. 

  240 qqp −−=  ©ØÖ® ~Pº÷Áõº GßÓõÀ ~Pº÷Áõº 

E£›ø¯U PshÔP. 

15.  (a) Find the first and second order partial derivatives of 

the following function 6522 yxyxU ++=  and also 

verify that 
xy
u

yx
u

∂∂
∂=

∂∂
∂ 22

. 

  ¤ßÁ¸® ö\¯À£õmiß •uÀ ©ØÖ® CμshõÁx 
Á›ø\ £Sv ÁÈz÷uõßÓÀPøÍU PshÔ¯Ä® 

6522 yxyxU ++=  ÷©¾® 
xy
u

yx
u

∂∂
∂=

∂∂
∂ 22

 

Gß£øu²® \›£õºUP. 

Or 

 (b) Find the solution using graphical method 

  Min  21 23 xxZ +=  

  Subject to 

  

124

6

105

21

21

21

≥+
≥+

≥+

xx
xx
xx

 

and 0, 21 ≥xx . 
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  ÁøμPø» •øÓø¯¨ £¯ß£kzv wºÄ PõnÄ®. 

  Min  21 23 xxZ +=  

  Em£mhx 

  

124

6

105

21

21

21

≥+
≥+

≥+

xx
xx
xx

 

  ©ØÖ® 0, 21 ≥xx  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Find the derivative of  

 (a) 1613 34 −−−= xxxy  

 (b) 248 3
4
1

4
1 −+= XXy . 

 (A) 1613 34 −−−= xxxy  

 (B) 248 3
4
1

4
1 −+= XXy . 

 Cß ÁÈz÷uõßÓø»U PshÔP. 

17. Find the local maxima and minima of the function 
( ) 1596 23 ++−= xxxxf  using the second derivative 

test. 

 CμshõÁx ÁÈz÷uõßÓÀ ÷\õuøÚø¯¨ £¯ß£kzv 

( ) 1596 23 ++−= xxxxf  ö\¯À£õmiß EÒÑº 
AvP£m\® ©ØÖ® EÒÑº ªÛ©õøÁU PshÔP. 

18. Find the total differential yexz 34=  find dz . 

 ö©õzu ÷ÁÖ£õk yexz 34= Psk¤i dz . 
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19. To find the optimum the following function 
100824123 22 +−++−= yyxyxxz . 

 EP¢uøuU PshÔ¯ ¤ßÁ¸® ö\¯À£õmøhU PshÔP 

100824123 22 +−++−= yyxyxxz . 

20. Solve graphically the following linear programming 
problem 

 Maximise 21 xx +  

 Subject to: 

 

0,

33

1

21

21

21

≥
≤+−

≤+

xx
xx

xx
 

 ¤ßÁ¸® ÷|›¯À {μ»õUP ]UPø» Áøμ£h©õP wºUPÄ® 

21 xx +  I AvP›UPÄ®. 

 CuØS Em£mhx 

 

0,

33

1

21

21

21

≥
≤+−

≤+

xx
xx

xx
  

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define : Money. 

 £n® Gß£øu Áøμ¯Ö. 

2. What is paper currency? 

 PõQu¨ £n® GßÓõÀ GßÚ? 

3. State Pigou’s equation. 

 ¤SÂß \©ß£õmiøÚU TÖS. 

4. State the meaning of Value of Money. 

 £nzvß ©v¨¦ Gß£uß ö£õ¸Ò TÖP. 

5. List out the different types of deposits of commercial 
banks. 

 ÁoP Á[QPÒ ö£Ö® £À÷ÁÖ ÁøP¯õÚ øÁ¨¦PøÍ 
Á›ø\¨£kzxP. 

6. Define CRR. 

 CRR Gß£uß ÁøμÂ»UPn®. 

Sub. Code 
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7. Define the Central Bank. 

 ø©¯ Á[Q Gß£øu Áøμ¯Ö. 

8. Define Bank rate. 

 Á[Q ÂQu® Áøμ¯Ö. 

9. Write the meaning of Debit Card. 

 Phß Amøh Gß£x ¯õx? 

10. Short note : Call money market. 

 ]Ö SÔ¨¦ : AøÇ¨¦¨ £n A[Põi. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the various functions of money. 
  £nzvß £À÷ÁÖ £oPøÍ ÂÍUSP. 

Or 

 (b) Discuss the role of money in the Mixed economy. 
  P»¨¦¨ ö£õ¸ÍõuõμzvÀ £nzvß £[QøÚ ÂÁõv. 

12. (a) Explain the Fisher’s quantity theory of money. 
  ¤å›ß £n AÍÄU ÷Põm£õmiøÚ ÂÍUSP. 

Or 

 (b) What are the causes for inflation? 
  £nÃUPzvØPõÚ Põμn[PÒ ¯õøÁ? 

13. (a) State the reasons for privatization of Banks. 
  Á[QPÒ uÛ¯õº ø©¯©õUSÁuß Põμn[PøÍU 

TÖP. 

Or 

 (b) What are some of the important secondary and 
subsidiary functions of a commercial bank? 

  ÁoP Á[QPÎß •UQ¯©õÚ Cμshõ® {ø»¨ 
£oPÒ ©ØÖ® xøn¨ £oPÒ ¯õøÁ? 
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14. (a) Discuss the various objectives of Credit Control. 

  Phß Pmk¨£õmiß £À÷ÁÖ SÔU÷PõÒPøÍ ÂÁõv. 

Or 

 (b) Explain the role of Central Bank in a Developing 
Economy. 

  ÁÍº¢x Á¸® ö£õ¸ÍõuõμzvÀ ø©¯ Á[Q°ß 
£[PÎ¨ø£ ÂÍUSP. 

15.  (a) State the various merits and demerits of ATM. 

  ATM ß £À÷ÁÖ {øÓ ©ØÖ® SøÓPøÍ TÖP. 

Or 

 (b) Write the characteristics of a Developed Money 
Market. 

  ÁÍº¢u £n A[Põi°ß Snõv\¯[PøÍ GÊxP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. What are the different types of Paper Currency 
Standard? Write its merits and demerits. 

 PõQu £n•øÓ°ß £À÷ÁÖ ÁøPPÒ ¯õøÁ? Auß {øÓ 
©ØÖ® SøÓPøÍ GÊxP. 

17. Critically examine the Cash Balance Approach of 
Quantity Theory of Money. 

 öμõUP C¸¨¦ \©ß£õmk £n AÍÄU ÷Põm£õmiøÚ 
vÓÚõ´Ä ö\´P. 

18. Describe the Credit Creation process with its limitations. 

 Phß E¸ÁõUPÀ öuõhº |hÁiUøPPøÍ Auß 
Áøμ¯øÓPÐhß ÂÁ›UP. 
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19. Which method and instruments are using for Credit 
Control? 

 Phß Pmk£õmiØUS £¯ß£kzu¨£k® •øÓPÒ ©ØÖ® 
P¸ÂPÒ GøÁ? 

20. State and analyze the various functions of RBI. 

 RBI ß £À÷ÁÖ £oPøÍU TÔ AuøÚ Bμõ´P. 

———————— 


